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Chapter 1: Basic Mathematical SKills

Mathematics: The branch of science which deals with numbers, equay,

functions and geometrical shapes.
1 of mathematics in which letters and other symbols are useq,

Algebra: The pa )
ormulae (plural of formula).

represent numbers in equations and f

Mathematical operations: ‘
T'he mathematical operat'ions like ‘addition. subtraction, multiplication and divisic

are carried out in following order

.lv. Bracket ) You may remember it by
2. Division S '

g .k BDMAS

3. Multiplication Ty A

4. Addition :

5. Subtraction

Example 1:

2+2x2=8 (incorrect)
2+2x2=6 (correct) p
Example 2

Solve 2+3x%2+2+(5-7)
=2+3x2+24+(-2)
=2+3%x2+2-2
=2+3x1-2

=2+3-2

=5-2

=3
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Order of division of four and three numbers 7 Aead
{ /:/: 
- a d :( * J ;
I”‘_ = T X - k‘\ :‘/‘ d 3 /
) ( PN A e S /‘
N\ Z)NTy >
d “ ,\,_/ /
’L #0A0A
7 - i
Bt o o
c - b ¢ b
Powers

1. In multiplication when bases are same, powers are added

b — ya+b

¥%.x X

Also
PR =gt g )
2. When there is power on a power of any variable, then powers of variable
are simply multiplied ' :
(xu )b - xub

Also
(x2)3 = xb

3. When variable is moved from numerator to denominator or from
denominator to nominator ,signs of the power are changed

xt v’
yb - x—a
Also
4
X
— 2 gk 8
.
¢4 (=3)
'¥A¥—3
x!
X
4. The value of root is %
1
VX = (x)z

Prepared by Azhar Afzal Mir
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al ;

simlarly in gener

Fractions & i v -
' : rts of anything.

! is a fraction means twa equal pa 4

2

e.g.hi of aboxis '

a ’ 1/2 C 1/2

.1."[5 a fraction which means three equal partsof anything

'1/3 1/3 1/3

b.

Boxes a and b clearly indicates that when denominator goes on increasix
part of box become smaller.Hance greater the denominator smaller will:

answer

Similarly
1
S P
w(infinity)
And

Convert into simple fraction 51
’ i

; o
'€pared by Azhar Afzal Mir
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e N ki
[/ \
36 1/:/ .
\ 4,'\ . Y ”"5 /
Simularly N7 S “._37/
IN g ‘\\"'/
1
-’_
7
14+1
*7
15
¥

[t can be expressed as

Quotient /

;;d7 E\‘\ j

14 Diy

Divisor

Remainder

|
[ Dividend=Q (divisor) +R ]
__

r in case of difficult fractions.

How to decide which fraction is large
me by multiplying with a suitable
Itiply the denominator, you have
ers so that original fraction

» Make denominators of all fractions sa
number, in denominator. When you mu
to multiply the numerator with same numb

e T

AT

does not change.

o2
PR

B
4 (}“;‘,
=~
7

e N

A8
oot
¢
-~

S
(/.

\

k)
+ ,,/
/
|
<
N
.
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wr ator or denominatgy "
When one multiplies numer nly then
i t.
mathematically incorrec
Now check which numerator is larger that fraction wjy be 13,
»

Eer_

e.g. which fraction is larger?

\IIN
W
3| -

¢ 3><2 7x4 3x1

\3><7 "Tx3'3x7
6 28 3
21°21°'21

So_

3 is larger fraction (as 28 is larger numerator)

Basic mathematical formulae

(@+b)* =a®+p%+24p
(@=b)2=q2~p2 _ 54

(a+b+c)2-a2+b2+c2+2ab+2bc+2ca

a? ~b2=(a—b)(a+b)
Proof (if you forget)

(@+b)? = (a+pyq 4 b)

Bases are same POWers are addeq, simple multi’p_licafion

=0’ +ab + pg 4 p2

=a3+ab+ab+b2

(a+p)2 =
blmllarly YOu can proye others

Prepareq by Azhar Afzal Mir
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G
Chapter 2: Number Theory (/ ‘)

-,'.\.'r. S1Z35ERT }'
Natural numbers = N= {1,2,3,........c.ccccoerrrrr } \ A /
i W N e

ole numbers =W= {0,1,23,....c....c........... } —

Integers =Z/1={0,+1, 42,43, ... .. oo oo v e v )
Real numbers =R= Large,small,positive negative,fractions,whole numbers or

decimal numbers are called real numbers e.g. 1,15,15.82,-0.1, % etc.

Complex numbers = C=sum of real numbers and imaginary numbers ie.
C= R +Imaginary

. .Normally expressed as C=a+ib
Where a=real part
b=imaginary part ' -
. (iota) i=v—-1 '
Importance of imaginary numbers
Mathematically iota (i) or V=1 may appear in solving the equations like
¥*+1=0
x2=-1
Jar =+
o i\/j
x =i
iota is used in quantum world (in which particles like electron,

eir motion is discussed).specially the motion of electron
ibed by equation involving “i” (iota).

.

Physically
proton and th :
around the nucleus in an atom is descr

Rational numbers = Q=All numbers which can be expressed in s form provided

that q not equal to 0 (because % will be equal to infinity)

mggnal_nnm_bﬁ.ﬁ_=Q'= All numbers which cannot be expressed as 2 orq=0
' Y W a
are irrational. PPN
Other distinctions between Q and Q' 5/ A %
T ‘i;f: 1 -

1+ \" oy

\ M\ S 2 ~ /

\7. Jsan 4/

prepared by Azhar Afzal Mir
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Solvable square roots are rational

2
eg.

Insolvable square roots are irrational.
Q'="v " involving fractions are oftén Q
On thie basis of decimal

Decimal.

Terminating non-Terminating

g 0.15 =%~(p/q) so rational R I

, v
Non-terminating & recurring non-terminating & non-recurring
eg 0.131313.... (Rational) e.g.0.1312879..... (Irrational
. s ”
’ N= -2—2
. 7

|
|

So, itis irrational.

P 3
. =P=A prime '
are divisible by | 4pq itself, Umberisa whole Number greater than 1 W

&g { 2,3,5,7,11,13,17, 19,2329

Prepareq by Azhar Afzal Mir
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Composite numbers = The numbers which are not prime, are called composite
numbers.

(S
Chapter 3: Percentage ‘/;?/ '
Basic formulae: \J" \¢

1. i 2

Given amount
percentage = —————— x 100
Total amount

g OR

tage = 22 x 100
ercentage = X
P B whol !
2.
' , increase in value
percentage increase = — x 100
original value
. . ‘decrease in value .
percentage Decrease = — x 100
_original value
" Trick
- Keep' in mind the symbol for:
Per means /
Cent means 100
“w Of means ()
Percentage /
/

Prepared by Azhar Afzal Mir
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(]

: W from the Greek word per centum which Megy,
percentage s derved :

hundred

Question: Change into common fractions: |
60 ‘ A%
100
70

POVOL: g s
70% 100

HOW =

Question: Change into percentage:
o 70
20

70

— X 100 = 35% | X
5 .

. Question: Change 45 21 % into simple fraction:
= 452
2 0

91
=%

<}

Question: Find 250, of 500%:

Pre,
Pareg by Azhar Afral Mj
"
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Example 1
In a parking there are 800 cars in which 80% cars are Pakistani made. Find the
no. of Pakistani cars.

Sol: A
Number of Pakistani cars = 80%(800) .
3 80 (800)
100
. = 640 cars
Example 2

In an aerq‘pléne 400 passengers are board, in which 52% are Pakistani, 17%
chines, 12% Iranian and rest of passengers are British.

1. Find the passengers of each country.
2. What is the percentage of British people?
Sol:
Pakistani passengers =
52%(400) Qg/\:m

A[/
\
pomid

Foart
-
i
¥

RTINS

52

- LB\ Bie / y

_—100(400) AN ‘}
. 5
2701, Isiat™

A\107 -

—

X
Q\/\T'
=52(4)

Prepared by Azhar Afzal Mir
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= 208

Chinese passengers = e
= — (400)
100
= 68
British passengers =
52% + 17% + 12% = 81%
British = (100 — 81)% = 19%
Example3 . : :

! ‘
If ; is decreased by 25%, we get?
Sol:

- il
2500 of Lok .
5% ofawhlch is to be subtracted fromal,

= 25 1 _
‘m( /8)

_ 25x%1
e

~100x8

Now ' 4 * 32
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number?

Sol

60% of a no.

n

100
According to given statement
' bx

(

60

Let the no. be x

16

When 60 is subtracted from 60% of a number, the resulting no. is 60, what is the

> 50 =60

10
6x
— =60+ 60

Example 5

So the no is 200
A candidate who gets 30% of total votes polled, is defeated by 15000 votes. Find
the no.of votes of the winning candidate.

Sol:
Let total no. of votes polled=x
Defeated candidate's votes = 100 (x)

B 3
E(I)

"
,/
A
A
—f N
- .
=
o)
P
o
!
S -

Prepared by Azhar Afzal Mir.
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3 N
Vo 5 o = X = —= (X \ Y
Winnig candidate’s votes =X 1()( ' f'
10x = 3x \ :
=70 -7
SR
17X §

T 10
Difference of vote between winning & defeated candidates=15000

L& -

7x" 3%
= e = 15000
7x — 3x
~710
4x

=05 15000

4x = 150000
150000
X T
4
x = 37500

.

= 15000

1]

. So'total votes=37500

Now votes of the winning candidate

i
= 5(37500) /i:/.-'
= 26250 votes (,

y

B2r
"€pared by Azhar Afzal Mir
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Sol:
Candidates failed in mathematics =52%
candidates failed in English =42%

candidates failed in both subjects=17%

Candidates passes in both subjects=?
candidates failed in at least one subject = (52%+42%)-17%
' =94%-17%
: =77%
Therefore candidates passed in both subjects=100%-77%=23%
Example 7

Nadeem spends 30% of his income on food articles, 40% of the remaining on
conveyance & clothes & saves 50% of the remaining If his monthly salary is
18400Rs, how much money does he saves every month?

Sol:

Income of Nadeem=Rs18400

30
Expenditure on food articles = 100 (18400)

. = 5520
Remaining amount=18400-5520=Rs12880

40% of remaining, expenditure on conveyance & clothes=% (12880)

=5152 -
Saving is 50% of remaining "—r}
Now remaining = 12880-5152 i ‘- /a
=7728 - <

Prepared by Azhar Afzal Mir
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/ e, A "\
| /_'l*' 4 i

_ 0 728l
~ 100

S0

1
«f
l

_ L(7728)
2

Example 8(CSS-2017) : |
A man buys SKg of meat at Rs500/Kg.In addition, fotll'1 evei'l}_r lﬂlogramm
purchased, he has to pay a consumption tax of 6% on the se mg price. (4
the total amount of money that he has to pay.

So:
Price of 1Kg meat =Rs500
- Price of 5Kg meat =5x500=Rs2500

As he has to pay 6% tax on price, amount of rﬁoney to be paid

6
= 2500 + —
0+ 55(2500)

% . 6
= Z500 4 {1 b
( 100’

= 2500 + (1 + 0.006)
= 2500(1.06)
Rs2650

i

) .
I)lepaled_b.‘{ Al“al Afzal M.l
- :

———
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TR |
20 i \2

A
’ ) /
More practice problems: LI

\_-
Question 1: When 40% of a number is added to 42, the result is the number
itself. Find the number. (70)

Question 2: A metal bar weighs 8.15 ounces. 93% of the bar is silver, how many
of silver are in the bar? (7.57)

Question 3: 15 liter of a mixture contains 20% alcohol and the rest is water. If 3
liters of water be mixed in it, what is percentage of alcohol in the new mixture?

(163)

Question 4: A student earned a grade of 80% in math that had 20 problems.
How many problems in that test did the student answer correctly? (16)

Question 5: lKg of tea and 4Kg of sugar cost.Rs35, but if sugar rises by 50% and
tea 10% they would cost Rs42.50 .Find the price per Kg of sugar.

/\&\cvr“.
/ o) )
Nale '_.‘ \‘
= t
‘: - |
T o
74
T ae N, ¥
%,;c T 5 ."

Prepared by Azhar Afzal Mir
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Chapter 4: Ratio, Rates

Definition

“The comparison of quantities with same, uits is called ratio.

It is represented ass,” . w6t 0 T ‘ oy
a:b (A S o
; e ..;. ; % -t
Where  a=affcedent -
b = consequent
a:b £b:q
e.g.
122 211
1
~¢E e Nead,
2 1 / :» > e
S~
1 (5
. s 1)
E ‘ 272 o
-‘ample 1 ..
- J
Monthly A \r G
in ~ F
Come of Ali’s fathe ~ T,

CSS General Ability Notes, www.cssexampoint.com
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Sol

1-Expenditure: saving

As

Income =Expenditure + Saving
Saving = Income — Expenditure
Saving = 40,000 - 35000
Saving = 5000 »

Now - =

Expenditure : Saviﬁg

35.000 : 5000

35000/5000
k . =7/1
=7:1

2-Income : Saving

10.000 : 5000
~40000/5000 K}‘"’" ,
=8/1 2 |
; )
=8:1

3- Income : Expenditure
Income : Expenditure

=40.000 : 35000

. Prepared by Azhar Afzal Mir
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23 p—
BN
<

,\
-40.000/35000 ; 35
. 9-/ *’7
=R/7 N
! !, 1 X“‘;’/
=8: 7 T
Example 2

is equal to two-third of another number, why s,
. y ]

If 40% of a number L
of first number to the second’

Sol: ]
L et the first number be x and the second number be y

N . Then
2
40%(x) = = (y)

"~ 40(x) N @

100 3
4x _ Zy
10 3
X2 10
i by
Yy 3 4
12
¥ 9 AEere TN
N \f\\\‘ & . %
SO ﬁrs: number is X y = S . 3 (E « ’:.':,)
. s

CSS General Ability Notes, www.cssexampoint.com
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Sum of the money is divided among 3 persons A, B and C in the ratio 10:7 :S.0f

‘B’ gets Rs.140 more than *C’,how much ‘A’ get?

Sol:
Let shares of A B and C be

A =10(x) (1)
B = 7(%) (2)
C=5(x) (3)

As B gets 140 rupées more than C so.

B =C+ 140
C+140 = 7(x)

5(x) + 140 =7x

140 = 7x — 5x
140 = 2x
_ 140 — 70
x= 7 -
Therefore
A=10(70) =700
B =7(70) = 490
C =5(70) =350
So /:/“‘—"\
QO
A=700 rupees [z /3
il
\ 2
Prepared by Azhar Afzal Mir \\\;
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Example 4 i 2
If vou have 24 coins and ratio of pennies to nickels is 2:1 hoy "'ﬂny,,
type of coin do you have?
Sol:
2: | means 3-parts of 24 coins
No. of coins in each part = 24/3=8
As pennies are 2 so,

2(8) =16
Nickels

" : .
ence. 16 coins are pennies and g coins are nickels

Example 5

Ata camp for pg :
i Ys and gjp| .
is | 8irts, the ratj ; :

$ 160, how many of ¢he children are boogquo,s to girls 3:5 .If camp enrol

Sol
325 means § paryg of 160, v "ﬁ-{r“ ‘
No, of children i, one par; = ¢ 0/8;70 57 é\.\
Now, t ) T4 1= : o
. hree papg are boys ang 5 parts are girls ¥ '.::‘f/
‘ S, \ '
Oys = 3¢ 20)=6( -

CSS General Ability Notes, www.cssexampoint.com
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Girls = 3(20)= 100
For total again 100 + 60 = 160

Example 6 (CSS -2017)

Divide Rs.500 among Arham, Mariam and Saim so that Arham gets 2/3 of what
Mariam gets and Mariam gets Y of what Saim gets. Find the share of each.

Sol:

Arham : 2/3 (M) AR =00N

Mariam : " (S) : 50 v

Now £

Arham : Mariani : Saim -

23(M) 1 (S) : |

2/3(174) (H4(D) :(l

N2 44 31

232

so total parts =2+3+12=17 of 500

Now, share of Arham =2/17(500) =58.82
Share of Mariam =3/17(500) =88.23
Share of Saim  =12/17(500) =352.94

Examplé 7

Find the compound ratio of 3:4 , 8:15 & 25:28

Sol

3:4,8:15 and 25:28

Prepared by Azhar Afzal Mir

‘—

CSS General Ability Notes, www.cssexampoint.com

23


www.cssexampoint.com
www.cssexampoint.com

27
3 8 25 .\ '
—_ X = %!
=z %7 *28 by 4
2 25
7 Gimrsrd <,
5 28 & ¢
A (R~ 13 P4 g
(s 270N, Is\ass
14

5:14 is the compound ratio. -*

Example 8 ' ,
The ratio of the present ag_é's of father and son is 8:3.After 10 years the -
their ages wanld be 2:1 .Find the present age of father.

Sol:
) ' 8(x):3(x)
8x+10:3x+ 10 =2:1
8x+10 2
3x+10 1
8x+10 = 6x + 20 )
8x-6x=20-10
2x =10
i P ST
N T
xX=75 / "" - \;\
Now 2/ \
Age of father is =g 5) =40 l ll
o » A. ;V' » J/
Similarly, age of son ig =3(5) =|5 Mabad. //

or
eDared by Azhar Afzal Mir
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Practice problems Nt

Question 1: In a class, the number of boys is more than the number of girls by 12%
of the total strength of the class. Find the ratio of boys to girls. (144/11)

Question 2: Find the ratio of 3.5 Kg to 280 grams. (25:2)

Ques?ion 3 Two numbers are in the ratio 3:4 .If 6 is added to each term of the ratio.
there is an increase of 20 percent in the given ratio. Find the first and second number.
3.4

Prepared by Azhar Afzal Mir
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AU

e .
3.
at’.

v

Rate

25 tWO
o that compares two 4

e is called rate »
ities of different units is cal rate.
uantities

“Arati

For example

2 " distance
d is a rate of change of dist

o Jistance s(unit of metres) -
V= _—t—lrnr e t(unit of time)
s
V=1
Example 1

A snail créwls about 2 feet in 1 hour. How many 'minutes will it take too,
inches? '
Sol
Gi ’ 2ft
lvenrate = —
S 1hr

Step 1: convert the given rate into desiréd units first.

2ft 2(12inches)
lhr = 60min ~ (@S1ft =12 inches)

2ft _ 24 inches

T T AT N -
Lhr = 60 min /ﬁ

24

60 inches/min
So.

Prepareg by Azhar Afzal Mir
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0
24 ,
ortginal rate = &0 inches/ min (1)
)
7 inches
Desired rate = ————— (2
X min
I quating the two rates tor unknown “x’
24 7
60 x
24x =7 X 60
AR 1) 24x =420
\\"?' : ' \'iWA\\\V/;‘ :"
e 420
T 24
x=17.5

Example 2 o

\ clerk walks from his house at 4km/h and reaches his office S minutes late. If
his speed is SKm/h, he will reach his office 10 minutes early. How far is his office
from home?

Sol:
Lot the distance he has to travel be= dKm
" o ik ’ AT d
I'ime taken to travel this distance at 4l\m/hr=zhrs
. 5K i
lime taken at l,;—r-"—' = hrs
2

Gl
Sl=

e b ot d
Difference in time = .=
e L1
Actual Difterence = 15 min o hrs

So,

A
"

Prepared by Azhar Afzal Mir ciein
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1
gda 4 Chay
4d = 20 Definitit
~Equalit
.5
4
d= SKm
Types:
ice problem® . _iies at its destinati L
Practice P . petween WO SIaLONS dm\'isuc:vels g Kx(:' Twot
i i nning ) hen i . h
Question 1} A L-ralmazu-toKm‘hF nd 16 min jate wh e |
Jate when 1l travels o ﬁons.(l: Km) . 2
the distance petween (WO sta . g o
s g 21m in 44 second
. 5..Arshad can cOVer 4 circular pa.ti\ :)t :a(dlxg o 405e0). gl
O -h vf‘ill take to cover d distance of 3km- " wh
uch time ¢ ' - i
i ; £ 75Km long train which passes 2 e quan
Question 3: What 18 the Sp_eed 0 ; e
platform in 10 seconds? (81 Km/hr.)
For
spe
Inv
- Lrs Wt
. “QV
~\ Fo
o } ve
\ .ﬂ)"\\_:)/,;’ / E
&sim‘“-“""
2
i
Prepared by Azhar Afzal Mir -
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Chapter 5: Proportion

Definition

“Equality between two ratios is called proportion™.

ab=cd
ab::c:d
Types:
- Two types or proportions are commonly used:

1) Direct proportion
2) Inversg proportion

Direct proportion:

When one quantity is increased the other also increases and on decreasing one
quantity other also goes on decreasing, so there is direct proportion between two
- quantities.

For instance, when you increase force on the accelerator of a car while driving its
speed also increases, so there is a direct relation/proportion between force and speed.

Inverse proportion:

When one quantity is increased other is decreased and vice versa then there is an
inverse proportion between two quantities.

For instance, when load is increased on a vehicle its speed is decreased and vice
- versa; so, there is inverse proportion between load and speed.

Example 1:
20 pens cost 200 rupees, what will be the cost of 35 pens? (Simple proportlon
with two things). -
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E
e .
Sol: . of two or more things with same Unitg
| finition, ratio 18 comparnson !
H)‘: de Hinition,
ith pens an |
x : x (pens W
20:35::200
20 200
35 X
20x = 35 x 200
35 x 200
/ =20
x = Rs. 350 |
Other method
By Formula:
,[ Product of means=product of extremes

Means

20:200::35 . « L |
L r

——

h 7Y ! 1
Xtremes ((,orrespondmg values in thig

method)
3 Ao
20(x) = 35(209) " /\‘
20 4 W
= 350 Rupeeg k—;ﬁ-*‘::;i/

Mepareq by Azhy, Azai py :
ir > .
- —
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Example 2:

he price of 80 shirts is 22000 rupees. What will be price of 30 shirts?

ol e
&7 . 80:30: 22000:x
f= '
80 22000
3 i .*‘.lil, 30 - X
LA 80x = 22000 x 30

. ~ 22000 x 30
- 80

x = 8250 rupees

und proportion (with more than two things)

Use arfow.method to solve such type of proportion.  _

rrow method includes 3 steps:

|- Construct a table i.e. rows and columns.
2- Draw arrows; Istly in column with unknown variables then comparing all the
other columns individually with unknown column keeping the other known

column constant.
3- Solve the proportion; keeping the unknown ratio (follow direction of arrows)

on one side of equal and all other ratios multiplied with each other on other
side of equality.

.P (Notable point)

case of simple proportion, also use arrow if there is an inverse proportion between
e two quantities. Then, following the direction of arrows, it may be solved by

finition of ratio. These examples will make it clear:
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\

35 ) w\
("
//
le 3:
Examp P task if more two men are added,h
6 men work for 12 days to ml e task? "
days will it take to finish the sam
e ——
—\—f—n—-/”’”’j Days
Me . )
_()—# ‘le"..l‘.‘
8 v X - :
Now by definition
x:12::6:8
X 6
12 8
X=-x12
X =9days
Example 4:
An army cam
P has a 30 da .
camp. Tell, for how many ﬁ:toc}( of food for 900 soldiers, 150 soldiers l¢*
soldiers? Ys same stock of food will be sufficient for'
Sol;

Py

O

-+»

1
S

ECSRSIARTY
e
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x:30::900: 750

x 900

30 750

900

=——x30
750 <3

X

x =36days

; Example 5:

‘A fort had enough food for 80 soldiers for 60 days. How long would the food

last if 20 more-soldiers join after 15 days?

:Sol

Days Soldiers
45=60- 15 T | 80 ,
X | © 100 1

x 80

45 100

= al X 45

=100
x =36

Now for 15 days later
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- o: iti
Fxample ture 200 commodities .If g me

nufac n
o me ufactured? "

daily t .
Five men work 8 hor> : commodities will be man

urs daily then how many

6 ho
I
,
. Sl F -
\}Igh__ — Working Hours CommOd't'es
f . (
;87——_——‘ 6 I X c
3 | e |
W
“x 6 8
. s —_—==X-
200 8 5
6 [
X =zx200 [ s ‘
> (= -3
X = 240 commodities \\\’;f», PRI
Example 7. e
% g
If 4000 Tupees ar,
€ sufficient for . :
Many days 1500 Llora family of 4 memb ' then®
- e upees will he sufficient for rn ki th"
o  Sol e a family of 5 members’
Members Q”Em”y : ,Day o
e (3 i A
4 b Rupees : Pre
| B 4000
Prepareq by Azhar Afzal iy — A
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I8
5 X 15000
Lers
,( x4 15000
QF N e 4
/ _K 40 5 4000
(= ?
\2) x = 120days
\ "N
\f ‘\\

Practice problems

Question 1: 14 cows eat 63Kg grass in 18 days. How many cows will eat 770Kg
grass in 28 days? (110) :

Question 2:A food factory manufactires 560 fans in 7 days with 20 machines. How
many fans would be manufactures in 12 days with. 18 machines? .

Question 3:The cost of 16 packets of salt, each weighting 900 grams is 84 dollars
.what will be the cost of 27 packegs of salt each weighting 1 Kg? (157.50)

Question 4:1f 270 Kg of corn would feed 42 horses for 21 days, for how many days
would 360 Kg of it feed 21 horses? (56)

Prepared by Azhar Afzal Mir

CSS General Ability Notes, www.cssexampoint.com

35


www.cssexampoint.com
www.cssexampoint.com

I8
5 X 15000
Lers
,( x4 15000
QF N e 4
/ _K 40 5 4000
(= ?
\2) x = 120days
\ "N
\f ‘\\

Practice problems

Question 1: 14 cows eat 63Kg grass in 18 days. How many cows will eat 770Kg
grass in 28 days? (110) :

Question 2:A food factory manufactires 560 fans in 7 days with 20 machines. How
many fans would be manufactures in 12 days with. 18 machines? .

Question 3:The cost of 16 packets of salt, each weighting 900 grams is 84 dollars
.what will be the cost of 27 packegs of salt each weighting 1 Kg? (157.50)

Question 4:1f 270 Kg of corn would feed 42 horses for 21 days, for how many days
would 360 Kg of it feed 21 horses? (56)
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’

/

c“ Al [ ' '):’l. Yl{j“‘-’ ‘/
Assignment: General science & abilities—— -

. COWS cat h; § " [ ‘
jr']-\.\ n T0o ; \S.) " ’\L’ g’l.‘.‘h 1n ]H (ln,l) - ll()\V ma n,v / l” Z t 77’)[:’

(.)Iltﬂ‘ﬁ()n ) ¢ 5 7 with 20 mach nes. b Oow
D A.:"\ f'lL‘l()l‘\' £ y
+e b B n]dl]\l!llcll]r‘ ) -(( % 5 1 | [
lans would be na . ; €5 560 fans in days with 20 mz °S. b
! 'Ulaclurcd In 12 days with |8 muéhinc#’ | ! -

Queéﬁ(;n 3:The price of
- 1Ne price of 80 shirts i Rs.22000.What will be price of 30) shi
. Irts?

Question 4:
* a) Hamzy « 3 4
e oo ;p«.:nds.l()% ot his total income on house r (
: IS savings is Rs.1800. What will be his tota] oo el
otal income?

b) Chapge mto fractions 709,

¢) Find 159, of 600

ing?
Z 1 13
| | 94 36
D) Solve:
) (7)2 +x - (2 x
4) -
b) 9+3+3X2 gt (
¢) (x2)3 =? Y
d) x8.xb =y  xb ' |
’ Tz: :
¢) conv " |
et into meter: 10 ¢y L2
lh'\.‘_aj/
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40

Chapter 6: Average/Mean, Medlan, Mode &
Range

.’ i

/', :
Average: ' 8

Why do we take average?

NE N Sl 5 f

[t reduce the error in calculations and leads to accuracy.

. Sum of observation
Average =- -
_ ‘ -7 .- No.of observation

Example 1: *

1) Find the average of 4,7 & 10:

Sol
4+7+10
Average = ————
3
21
E
=17

2) Find the averageof 1,3,5,6,7,8
Sol

1+3+5+6+7+8
Average = 6

-------
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41 g' .
\
students respectively is 50»55

Example 2: s
,60 an

e marks of 3 batches of" lslsgtudénts ot
Th;:(;;r:fn the average marks of all s
an .

Sol:
We know that 3
i : Sum (1)

 Average = Number of observatios

From (1) "sum"’ca'n also be expressed as:
Sum = Average x Number of students

Now

| Sum of students
Average of all Students =
, No.of students

_ Average x Ny, Of students
No.of Students

- (50 x 55) + (60 x 55) + (45 60)
45+55+ 60 _ .

- 2750+ 3300 + 279,

160 [.s7
54 k
8750 g , g
Averq €= — \ * A
9= 160 = 5468 . )
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Example 3:

The average weight of A, B and C is 45Kg
to constant force of gravity of Earth i.e.

units of mass i.e. Kg).If the average weight of

is 43Kg then find the weight of B.

Sol:

(weight has unit of Newton but due

9.8m/s? it is sometimes expressed in

A &B is 40Kg and that of B&C

Sum

Average =

No.of observations

_A+B+C

3

A+B+C=135 (1)

A+B
40 = —

2

A+B=80

Also

B+C__43
-

B+ C =86

Adding (2) & (3)
A+B+B+C=

(2)

(3)

80 + 86

A+2B+C =166 (4)

Now for B. subtracting (1) from (4)

Prepared by Azhar Afzal Mir
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A+2B+(C= 160

-A£Bx(C=-135
A

B =31

So. B-—-.”Kg s

Assignment : e
The average'monthly income of ‘P’ and ‘Q’ is Rs.5050.The average monthly income of ‘Q’ an
‘R’is Rs.6250 and average monthly income of P and R is Rs.5200.Find the average monthly
income of P.

Median
“The measure of central tendency in the data is caljeq median.”
e Write data in ascending order first.

For example, well known graph of Gaussian distribution:

Prepared by Azhar AfzalMir l g i
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The value representing the center of graph would be termed as median, physically

For odd values in data

| Find median of 1, 4,7,9,12, 14, 15

t ot

Median =9
Sy
For even values in data =Gy

FMdeMnM'ﬁL7@,mJ2JmN
A R

8+ 10
2

18

Median = -

Median =

Median =9

.~ Mode:
' “The statistical term used to refer the frequently occurring value in the data’

Or o
“Most repeated value in data™. s =
e.g. 14.5,6.,6.7

f\/!ofie= 6. |
1.4%5,6.6.,7,8.9.9,9.10

’-_.‘. > :
N -
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Mode = 9 (most l""[‘c"lcd) W e f
|‘4_\'.5,().h.7.x /

Maode =5, 6

R‘ngt: y 1"
nd minimuin value of data.

“The ditference between maximuma

eg 24.56.7.9.12°

Range = 12-2 = 10

Practice problems

a group having ages 15,15 16, 1§

Question 1: There are 9 students in v ?
mode and range also define above math

17.18. 19 calculate mean, median,
terms. (CSS - 2016)

Question 2: The front row of the movie theatre has 23 seats. If you were
sit in the seat that occupied the median position, on which seat you have t

Question 3: A student recorded her scores on weekly math quizzes that we
out of a possible 10 points. Her score were as follows: |

£,5,8,5,7,6,7,7,5.7.5,56.6,9,8,9.7.9.96.8.6.6.7
mode for her score on the weekly math quizzes? o

\

Question 4: Rashid buys three books for Rs.16.00 each and four l;ooks for

each, what will be the average price of books?

Question 5: A student gets 75, 82

, 86 mar :
on the next test, so that his ave s on three tests, What must be

rage for the four tests will be 852 (97)

Question 6: A car travelled 100K m wi

Alf bighe- with half the djs .

l}alE at 80Km /h. Find the average speeq lh‘e distance at 40Km/h and !
53.33kmv/h) of the car for the whole

s

RETTRO T
i v M ., \\
B i
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Chapter 7: Basic Geometrical Concepts

(Angles, Triangles, Geometrical shapes, Areas, Yolume)

Angle:

*Angle specifies the angular di " . : )
circular path.” gular displacement of a particle or body moving along the

W 1 , . 5
;Ztm'e c:nsnde(; a body moving on the circular path e.g. you are moving on a
y-§ round, cover some angular displacement moving from point At B
which is specified by angle. St I

Angle is represented by a Greek letter “6” and by “£" symbolically

Units:

sily; so

ntity which can be measured by some units ea

An angle shows a physical qua
ly used for angular displacement:

there are three units common

1) Degree
2) Revolution

3) Radian
ed unit (you have used frequently in matric for solving

Degree is commonly us
preferred for smaller systems.

trigono‘metric questions,
Revolution is used for larger bodies and larger circular orbits e.g. The Earth revolves
sed in revolution.

around the sun, its angular displacement will be expres

Prepared by Azhar Afzal Mir
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a7
placement used in the whq

is
: : n ular di
Radian is system international unit of ang

world commonly.

Types:

1) Right angle: Angle 0
2) Acute angle: Angle less
3) Obtuse angle: Angle greate

f 90 degree:
than 90 degree:

¢ than 90 degree and less than

degree. .
T rian’gleS
Tri ---------- Three

“A closed figure with 3 angles and three 3 sides is called triangle.

Types:.
» Right angle triangle
" » Oblique triangle s A
» Equilateral triangle /D"\"“’“"" :
“» lIsosceles triangle =1 & A
» Scalene triangle L2
» obtuse angle triangle \”p 22 L
» Acute angle triangle \__, )
Right angle triangle:

A triangle with an angle of 90 degree is called right angle triangle.’

CSS General Ability Notes, www.cssexampoint.com
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|
\\ /'Hypotenuse (H) \'%
» / \\// i
N

|

| -
perpendicular L1 : 9 %\

|
|
|
1
|
1
|

iBase«B)

l Some important trigonemetric ratios for the solution of right angle triangle:

i
| Perpendicular

Hypotenus

sin® =

Base T
cosp = ——— 7 g“‘_“:('pl.\ : |
Hypotenus / -~ > |
Perpendicular
Base

tan® =

Pythagoreah Theorem

It states that

“Square of hypotenuse of right angle triangle is equal to sum of squares of two

other side.”

H? = B® + P*(1)

Oblique triangle:
“The triangles that are not right angle triangles are called oblique triangles.
Equilateral triangle:

“A triangle with all three sides and three angles equal.’

Prepared by Azhar Afzal Mir
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= 180°

\s sum of angles of a triangle

180) In this case

Le. (60 + 00 +60 =

lsosceles triangle:
al is called isosceles triang|e "

«4 triangle with two sides and two arigles equ

m AB -~‘7.9‘7 tm
mCA= 797cm
mBC=617cm .

Scalene triangle:

pun

"A triangle wi an
gle with all sides |
15 and ¢
nd all angles difterent ig called
, ed scalene triangle.”

P
2D,
3req py Azhar Ahal M
ir
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e

Acute angle triangle:

*A triangle with all three angles less than 90° is called acute angle triangle.”

e.g.

b=

Acute angle triangle (all angles < 90°)
Obtuse anéle triangle:

“A triangle with one obtuse angle (> 90°) is called obtuse angle triangle.”

< B is obtuse angle

< B =135 degree

Prepared by Azhar Afzal Mir TN
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Some s:comctricnl shapes with area and volume

1)« ircle

2y Sphere

1) Rectangle

1) Trapezum .
) Square |
) Tnangle ’
7y Rhombus ‘__.,‘
&) Cyvhinder

1) Circle
A round Tigure whose boundary consists of points equidistant from a fixed poin
(center), called circle.”

. Diaméter = AB

\‘ straight line passing through center connects two points on the boundar'
circle. called circumference. '
, ,.»"_"'"
. ;.\'\\'I
-~ Radius = half of diameter /\"‘\/
d [ &
B o i\
. 2 \ 2\
: P

prepared by Azhar Afzal Mir )
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dint

greav] oirci mard oy Radi
adius)

Cir‘.umference(buundary) = 27y /
| ) r  (Where Radius
Angle of circle = 360°

omes fro 1 K a
(e from naturay revolution of the Earth around the ;un)
2) Sphere
« A three dimensional circle ¢.g. Football, Earth, and bal].”

. :
L :
Volume Of sphgre = 3T (Where r = Radius of sphere)

Area = 4mr? (Where r = Radius of sphere)

3) Rectangle

“A close figure with four unequal adjacent sides and four right angles.”

L

Width-

& I

Length

Area of rectangle = Length X Width

4) Square

—_ . g our right angles.”
“A closed geometrical figure with four equal sides and four right ang

p
"®0ared by Azhar Afzal Mir
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Square & Formulas

side
side

side

Area = side * side
Périmeter =4 + side

Diagonal = v2 -« side

.
~

5) Trapezium
"A four-sided figure with one pair of sides parallel.”

a

OR

or .
€pared by Azhar Afzal Mir =
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st
) Triangle ancebfw paralletsides)|

*A closed geometrica] fj i
A g trical figyre With three angles and th
g ree sides.”

Normally, we define for right ang|e triang|
g gles as:

1
A =-
rea 5 (Base x Altitude)

7) Rhombus |

*A four-sided figure with same length.”
1 s
Area = 3 (product of diagnols)

N =

(p-q)

- gLl where p = ac and q = bd (in below figure)

i KRN

8) Cylinder . ‘
ded by a curved surface and two parallel

“A three-dimensional -sur faesbay
circles of equal size at the ends.

p ' .
"®0ared by Azhar Afzal Mir -
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And

Area = 1'[1‘?, + 71’T2+ anh..

- Ared = ang_{+ 2nrh

Volume = m*r*h
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practice problems:

Questionl: A window h'] s a |
a €ngth of' 8 fi
2 e

; . et and wj -
Question 2: A triangular Width of 6 feet. What is the area?

M —sha .
meters. What is its areq? ped vard has g base of 25 met
<> meters and a height of 12

Question 3: The perimeter of 4 square |
e Ire 1 "
. . . 1S 188cm. What is the length of each side?
Question 4: A tnangular-shaped b P
What is its area? & has a base of 7 meter and a height of 6 meter

Question 5: Find the volume of the by

height 6cm respectively. ick with length of 24em, width 12cm and

 ——

Question 6: Find the perimeter of hexagon with a side length of 10 meter.

4

o

Question 7: A square has an area of 225¢m?2.what is its perimeter? &)
% 4

Six 4
AP A,

i Q«L ,s'\‘.i“b

ul

1
L ]
}
i
§

4
i

‘e

Question 8: Find the area of circle which has diameter of 8cm.

Question 9: Find the volume of a football with radius of 10cm..

ns three angles, if two angles are 45 degree and 90

Question 10: A Triangle contai
angle of the triangle.

degree respectively, Find the 31
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Chapter 8: Set Theory

jects s is called set.”
\ collection of distinct objects or numbers 1s ¢
“A C ]

Fach number of the sct is called element ot set. For instanc 2w
ac S

o bl b | ;-l
Set of first 3 natural numbers = | l.<'

Elements
Tvpes: Following are some common types:

Empty set: A set with no element, called empty/vqid/null set.

Represented by { } or @

Si-ngleto.n-set: A set with one element, ealled singleton set.
Sub-Set: A .set-‘/}f‘ is ihe'sub-set'o}‘ set ‘B’ it;all thé eleménts of set “A’ are prese
in set B . '

eg. A={1,2.3,4) ,B={1,2,3,4.7)

So set A is sub-set of B

Proper sub-set:

[f*B’ is a proper sub-set of *A” then all elements of *B” are in *A’ but ‘A "contait’ -

at least one element that is not in ‘B’ e |
rﬂ:.‘:‘- '\-'y‘f"‘:\‘

N, oS
.

Finite set: A set with finite elements f =
c.8. iset of days of week '
~Infinite set: A set with infinite elements ~ 8

¢.8. {set of all reg] numbers
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L e

resen

jains

58

(/nion of sets: Set of g]| elemeng 1,

elong;j
oJements of A & B both. ONRINg 10 set *A”. et “BF ar non-dupliate
={ 2.3 \ - N
g A1 23,4 By 5 ¢, TN
% ,ll fip \

\ /’\ )
' v

ion of set: '
(ntersectio Common elemen;s of sets is called intersection

2,3,4) B={23,56 N

L1n|versal set: Set containing al| objects/elemems and of which all other given sets
are subsets.

Complement of set ‘A’: leference of universal set and set ‘A’, called complement
ofset’Alle.  A°/A'=U- :

pifference of two sets: Ditference of two set, expressed as A-B is the set of all
olements of ‘A’ that are not element of 'B’.eg.

A=(1.2,3,4.5) ,B={24,5}

AB={1.3)

. De-Morgan’s l:aws in set theory:
(AUB) =A'NB’
(AnB)’=A’UB’

3 ’ yiven sets
Example: prove (AN B) =AUV B’ for giv

U={a,b,c,d,e, f}

A= {b.d, f}
B={f b, c!
LHS =

Prepared by Azhar Afzal Mit
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AN B={b,d, f} n {f, b, ¢}
AN B= b, f}
Now (ANB) =U—-(ANB)

={a,b,c,d.e f} - |b.f]
(AnB) ={ac,de} (1)
RH.S= |
AU B =
| -y A=U-4
= {a, b, c,.a.'e,_ £} —4b,d, £}
L A=face .
B'=U-B ={a,b,¢,d, e, ] ~{f, b.,;} ={a,d, e}
Now ‘ |
B vA’UB‘i'{‘a,c,e}U{a,d,e} |
- i 'A”Ub.’=[a,c,d',e} (2)
From(l)&(Z),prdved o e F,,_.....
(ANB) =A'U B’ /gff'
Similarly you can prove other i e. . :‘.:: |
A=

(AUB) =A'nB’
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Chapter 9: Logicq| problem

Deriv ed from Greek word s

roblems dealing
hep g \wth Correct redason;
prOblems ng for

r .\lphabetic series test.

» Alphanumericserjeg test.
» Coding - Decoding

, Blood relation reasonmg

o ‘ i ,
| Single person Blood | Mixed person Blood . ET;?:nEIOOd |
| relations relations ‘ J

'» Alphabetic series test.

1) Write 26 alphabets on page in order to read quickly letters in forward direction
or in backward direction.

2) You must be familiar with one-step forward, two-step forward and so on,
similarly for one-step backward, two-step-backward etc. One step forward
means jumping on next consecutive letter and one step backward means
Jumping on consecutive previous fetter.

3) Handle one letter or number at a time.

Example 1: ¥ Alphabets

AZ,CX,.FU. JQ A,B,CD,EFGHILLKLMNOPQRST,
U v,W,XY,2Z

Example 2:

OKY. FIw, HIU, JHS, LGO

~

R
wD.a'QF by Azhar Afzal Mir
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’ -\Iphanumeric series test.

. SRl P ‘hnl )
s d up. Use alphabets technique
bet and numbers are MIXe ‘
[n such that alpha

test also for letters -

Example 1: | \
QIF. S2E, U6D. w21C,Y88B ;.;

' o/
Example 2: R - L2 \/
D-4. F-6. H-8, J-10, L-12, N-14 N

-

r ‘COélring -D‘efcoding.
Example 1: |
If friend is coded as HUMJTK. how cam!le‘bé \.vritten in that code?
g :Sql: candle = EDRIRL
: 'Ex:ﬁnple 28

If “PALE” is coded as2134,“EARTH” is coded as 41590, how ¢
“PEARL” be coded in that language?

Sol: PEARL = 24153 =

~ Blood relation reasoning

4 t
KA LG

Single blood relations

3 Sllch problems involve the relation of one person td ‘éﬁdthep individual eg.

Example 1:

Srbl: :

Teqni :
eq qges to solve person bloog relations;

Prepared by Azhar Afzal Mir
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. B’reilk lh‘t‘ scnfcn%‘:..- from the int

e Qu m.u\s! b .tamlhur With the bl Ctory Words like g/w:
Lsster’s SOm is “Nepe e 0d re ationg |ik e bre dher's
sides. Such othey re| )

3) Start writing relationg i

~ ~The Daughter of only

5/15 et
" ther’s daughter is “Niece
ationg ,
. ONs on paternal and maternal
1 Simp|e

"ple termg tfrom

Son of iy fathe o OF it

g ductory sentence.e.g
I's wife", ! il

Johan' '
S Fatheyg Wife = Johan's mother

0]
nly son of mother - John himself

Daughter of John's himsetf gt

r

So Marry is daughter of John .

Example 2: . ' _ L

P.ointing to a lady Ravi said, she is the only daughter of the father of my °
sister’s brother, what is relation of Ravi and Lady?

My(Ravi) sister's brother = Brother
Orily daughter of Ravi's father = Ravi'sister
So, Ravi and lady are brother sister.

Example 3: (Assignment)

Introducing Saad, Amina said, his brother’s father is the only son of my )
grandfather. How Amina is related to Saad?

Example 4: (Assignment)
ograph a woman says that his mother’s only

i : in phot
-y a1 P w is man related to woman?

daughter is my mother. Ho

Example 5: (Assignment)
- s A’s cousin, but not the brother

’s nephew. Bi 2 (CSS-2017)

A told B that C is his fatherhere petween D & C

of C. What relationship is t

o

" v
"®0ared by Azhar Afzal Mir
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Mixed blood relation:

Such problems contain more than one re

lations 1.e. multiple individuals
up. You are to find a specific relation am

are m,.
ong all that relations.

Example 5

X.Y are hrothertsister C & D are wife and husband. X is the son of ‘C’ and
. How ‘Y’ jg related to ‘F*?

Sol:

Teqniques to solve the mixed blood relations:

1) Use family tree symbols as follows: '

1=C

Sister- Brother.
U o

“repared by Azhar Afzal Mir
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“l"\ed

nd ‘P

',4

0 Child: —

3) Children

3) Children
l R
ﬁ\1 L
And so on
\ow
]
RIS
So, ‘Y’ is Niece-of ‘F’
* Coded-Blood relations
Example 6
Ibf P+Q means ‘P’is husband of *Q". P/Q means ‘P’ i.S sister of *Q" . P*Q means
‘P*is son of ‘Q’. How ‘D’ is related to ‘A’ in expression:
D‘ + \-\c‘:':
B+C/A 4 <
s Le\
<o sister of AT B
G~ Cis i

*repareq by Azhar Afzal Mir
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B —re——r B is husband of €
‘B’ is brother-in-law t0 ‘A’
i R ‘D’ is son of ‘B’
So. D is Nephew to "A’
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[hﬂpter 10: Analytical problems \z

“The thinker’s Tool Kit”

| derived from “analysis”

N ma]ytica
Wans -~Scpar3tmg a problem into its constituent | 8y Morgan Dons (Former CIA analyst)
) - G.RE
( ,lements- i
Jex issues to their simplest terms.

Juce the comp

n to analytical problems:

jere
s with a few introductory sentences describing

lu(rodll-cﬁo
_ -ach analytical problem begin
g particular situation.
, The introduction will tell you how many people or things you are going to be
working within t_he problem. ( Typically asks to manipulate between 5& 8
people/thing, sometimes more, some times less)

» The introduction is followed by set of certain conditions that must be

followed:

ytical problems:
on to few minutes’ details.
fore you try to answer

Strategy to tackle anal
you are given be

ms require great attenti

» These proble

» Try to diagram the information that
any of the questions. : ;

» You must be aware of the directions like East. West, North, and South.
Usually “East” Is drawn on the paper with respect to your right hand when
vou are writing on the page «West" on the side of your left hand, “North”

ds vertically €8 {;—t—;—-\
) 35

upside and «gouth”™ downwar
N 4 y

“ 4 4 /’

Epar
*0 by Azhar Afzal Mir
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For the directions of object in the problem which is lo'h.c moved 19“0\« th
directions according to the right & left hand of the lndl\"ldUi'll walking alo,
particular directions. Your hands are for general (E, W, N, S) directions,

1)

to
~

Male:

Female:

# Work in sequence and draw diagrams of all given. conditions in ,

analytical problem (like condition A&B sit together can be representeq by
A<>B)

¢.8&. (Some people prefer to answer first those questions about a Passag
that seem difficult, itis not a good practice to start another passag
before finishing one. Begun earlier because it is time consuming to retyp
to the passage and the re-establish familiarity with its relationships).

~ Avoid *Analytical sins"e.g.

Don’t be exercise bike in thinkin
sweating but goes to nowhere,
Don’t follow instinctive approach (instinct -
learned-we prefer the solution naturally we
approach. In instinctive approach mind
alternatives. On the other hand
remains open to alternatives ena
decision or problem separately).

g and discussion i.e. spending lot of energ,
inborn pattern of activity, na
like rather to see structura

generally remains closed 1

bling one to examine fach element of the

» For blood relation questions use the following symbols to solve quickly:

4 y
\.\i ;,\_, AL

CSS General Ability Notes, www.cssexampoint.com
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Wife

am——
T ' /-
S {7
| &

Hu;b*“d'

ister- Brother.

Q N .l‘—"

Child: :

Children

# Try to reduce the problem from 3-dimentional to 2-dimentional because
you have to work on the paper and paper is two dimensional .For instance.
any house in_the given problem and general directions( East, West, North,

South) are perceived to be 3-dimentional; so, you have to reduge in -

- dimentions. ' _ ' ‘
~ When circular arrangements of the people are asked in any analytical

problem, only two arrangements are possible:

People facing inside the circle and facing outside tbe circle.
facing-insi ircle than right mean anti=clockwise
When people are facing-inside the circle’ ‘ nti .

and lef?me?ans clockwise. It is vice versa in case of people facing outside.
S ic geometrical
- Basi ithmetic's, probability. percentages landblbz:;lsc ge
-t ing the : tical problems. ..
techniques will help a lot regarding the ?T]y 5 L PRI,

——- E 2 : PR
. .
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’

A

e 69 s

al

o ake these instructions more cle; 0!

e s e LR

:'Ill:‘end of the book. )

[Some common analytical problems and general strategles to tack‘&\

(

Example 1:
c colors is ng Mr. Fields house. Michalk

inti ' Ross is alley behind the house painting the
ting the fron ) e | .

g:lcll](. :fd isepéinting the window frames on North side, Shgwan'ls OI:,SOUth‘ I
Michal switches phaces with Jed and Jed then swﬂchgs:places with Shawan,
position of Shawan? '
position of Michal?

ew from-classi painti

A four person ¢r'
t of the housé.

1) Where.is final
2) Where is final

-

Sol:

O,

il

et the front portion of the house be on the East.

ion and conditions using arrows. it is the clear from mappi"s

Drawing the introduct

Shawan is on front i.e. East. :

Michal is on North. .

Example 2:

T A ST

prepared by Azhar Afzal Mir
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4

W

70
ori® Bed::;fchi::'l?} D?epinder, Eesh
:it‘i“gdarorhe left of Heacmg the Cente War, Faney (-
b nd t0 : ro, ,Deepinde .r. ancy is 3y! (Jurkamal and Her .
" ero- Eeshwar is to the IMmegj, :ls. - immrdt- erighmfchi"t;(are
o:urkamﬂl? Tight of Amriedlat(e) Peizgnilhor of Chiynky
! IS ;
) Whois 2" to the left of oy, to the right of
,, Who is to the immedia¢e g tyo.f . )
;) who sits between Gurkap, ang Ctlen'fy? l"‘,','."ji‘n—,\
| | trick for such circular 5 | Fliler? /4 } Y "-:4;\\
Genera ITangememS: ! 3D _;!

A
A
S~——

- lar arrangem . ‘. ‘
Ll R gements of AN i8S
) Facing inside the Circle;

iy this €aS€ remember:

i

Right means = qn¢; - clockwise

Left means = clockwise
‘:)- Facing outside the circle:
Right means = clockwise
; Left means = aniti - clockwise
Sol:
| Ourcase is circle with face inside; so.
| Right = anti - clockwise

Left = clockwise

| o
i "*dby Azhar Afzal Mir
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m————

e

——

e =

Clockwise Anti-Clockwise

From diagram it’s clear that

1) Armit
2) Bector
3) Fancy

c el

Solve this question for facing outside ‘

Prepared by Azhar Afzal Mir
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Eumple =

flw,,lked.from AtoBip

ee et. Again s East

“,n(edg feet. AgaIn she turpeq to the :() feet, The s

o, ight g Walke(:urned to the right angd
| . €d 14 feet, OW far is she

ok

puring general directions;

|
e

- Sy

"om diagram | AE| <o

Using bi;Sic e
g ometry and applying Pythagorean Theorem:

Hvo2 _ k
(Hyp)2 = (Base)? + (Perpendicular)?

(AE)? = (ED)% + (DA)?

AE = /42 4+ 32

"A-ay
",
by

Azhar Afzal M
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73 Y

i
$
/F .
S
A S
oy

‘AE|=5feet

So. she is 5 feet far from point As G

Example 4: . .
vely. A ca
8 meter and 6 meter length and preadth :elslp:cr:t I‘:ind thz :\l |
A .-oom“h;_is r walls and then along the diagonal to catc ot oy
along all tour ’ ’ .

distance covered by the cat.

2 ;

I Sol: _
. A B
" 6m om
D C A
3 /
(Room)
Here,
AB = Length of room
BC = Breadth of room
* ) AC = Diagonal of the room
Total distance = AB + BC + CD + DA + AC (1)
For AC

Using Pythagorean Theorem

< =v100 .
- AC=10 m. using in () e
f’reoared by Azhar Afza Mir
. )
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N

SRS S S < Y.

TR SO

ol disance = 570+8+6+10

I ol distance = 38 meters
0
% . \ i

5: X )
E"mple A\ \Wo;"
h
500 B is married with ‘o Wad.
A

'Nose g;
‘D’ is related t Yoy SiSter «y»
B HOW o A’ D IS marl‘ied o ‘B

+the brother of

.. Female:

Husband-Wife . -

B'rother-sister
:l
Child:

a'EOared b '
Y Azhar Afzal Mir
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Children

[/%

A" \Y ] i ese 5)'mb.0152
N l mg the abo (4 questlon using th . ‘ S
Now SO '

‘:QK—*@'—;“E;

This means

' ' - ~
S oo=C

So, D is A’s daughter-in-law.
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F‘ample 6. ,/‘ 1 }
d, Alic Akbar' NaSir and She i ,‘\—’i/

‘,hr:ren‘ heights and weigp,. Py baz 4y, th
Wwej

. . e Studen
i ts five times as much »¢ Akbar. Sdents of ,

€ a

college hay;j
- < ic ng
:%?ﬁ“igms half as Shehbag, Kbar weighty gy mUCH 35 Al and Al

alf a4 Much ag Nagjr and

) Who is the lfeaviest in Weigh o
7) Who is the lightest in Weigh¢o
1) Shehbaz is lighter in weight thap "
4) Shehbaz is heavier thap which of ¢
5) Show the descending order of the

hich of the two Students?
he two Students?

weights of Students,
Sol: |
‘In such type of height or weight comparison questions, et the last one of the

chain of iﬂtTQdUCtiQH equa} t0 some numerical value then al| others will be
simple to develop in equations. ‘

For instance, in this question Shehbaz s the last boy.

Let weight of shehbaz = 60Kg (1)

PR

1
Nasir weight halfof shehbaz = 2 (60)

So, Nasir = 30Kg @
1

Akbar weights half as Nasir = 5(30)

. (3)
So, Akbar = 15Kg

Ali weights 5 — times as Akbar = 5(15)

C)
e Ali = 3(75)
'Ahmad weights thrice @ much as

ared by Azhar Afzal Mir
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(5)

Ahmad = 225Kg o

From above equations

1) Ahmad 1s heaviest

2) Akbar is lightest “

3) Ali. Ahmad o5
1 Nasin AKbIT L agpar
5) Ahmad, Ali, kbar

Shehbaz. Nasir. A

Saleem and Osama are beiy
r four consecutive |
nterview. The day g,

firm the followiy

Example 7:
Amin, OmefF, Hamza,
The interview will take place ove
Each candidate will have one 1
ndidates will interview must con

Six candidates Ali,
interviewed for a post.
starting on Thursday.
which the different ca
conditions:

place each day.

ill take place on any day. ¥

1) At least one interview will.take
Il take place on any two consecufit

2) No more than two interviews W
3) No more than three interviews wi

days.
4) Ali’s interview must ta
5) Amin’s interview must take place o

ke place on Saturday.
n the same day with anothe

interview.
st take place on a day before Osama’s interview

6) Saleem’s interview mu
7) Osama’s interview must take place on a day after Hamza’s day.

Question 1:
If only one interview take ; ;
that intemiew?. take place on Thursday which candidate could b}
. y e - ‘. 3 - 5
Sol:
Thursday Friday
. ) Saturday .
’ Sund T

Saleem i

All

Prepared by Azhar Afzal Mir
| AL
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eing )

days i
Y on |
wing

wutive

jother

rjews

j bt

8

Sinee

e m—Osama
0 mza/"()mcr :
Question 2:

(fthe dwectm: :.;cuties to take two interviews on Th .
{ow many €2 idates would be eligible to interviewuer;day l?nd two on Sunday.
. : on Friday?

3)1 b)z c)3 d)4 05,
Sol:

Thursday Friday Saturday Sunday
Hamza. Safeem Osama Ali Agriin, Omer '
Hamza, Saleem AO.mer' Al " Amin. Osama
’ \mmHamza Saleem B\ | Omer. Osama

Amin. Saleem Hamza Ali Omer. Osama

02

S04 candidates on Friday -

!,e
Pared by Azhar Afzal Mir
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\ £+
*

\"\:/;."\__

Hints: x6 persons e
Pairs: \li, Amin Omer, Osama., Hamza, Sajeq,

- Omer Osama
:\mln-o *Saleeln '/‘——’» 2
Amin. Osama " z—t—+  Omer

*Ham
Amin. Hamza ' . ,
3 « Alj = Saturday

) aleem >3 . % . e . .

Amin. Salé > interviews on a day.

Omer, Osama

Omer, Hamza

- *No more than 3 int

«No more than -

erviews on consecutive da

"" Osama, Hamza

Omer. Saleem

s

Osama, Saleem
Hamza, Saleem
Queéstion 3: .

If Hamza,
must be true?

A) Hamza’s interview will take place on Thursday.
B) Saleem’s interview will take place on Friday

C) Amin’s interview will take place on Saturday

D) Osa.ma’s interview will take place on Saturday
E) Amin’s interview will take place on Sunday. 3

Sol:

6 persons

Prepared by Azhar Afza p;,

Osama have their interviews on the same day which o

£ the ol
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e )
a ( )mer
;{‘lml
«rhursday Fndav
//_‘—"\_‘ y
s"mda.\(
L\
Saleem Hamza ,
Al ! _
~[ Amin, Omer
So, E s true

4 pmple 8:

wing |

A chemist is preparing a nutrient using 8 different vitamins & minerals A
B.C.D.E H.F and Z. According to the recipes, the following requirements

apply to the use of ingredients:

) If B is used, both C and Z must also be used.
2) E & H must also be used together. ‘
3) If *C’ is used, at least two of A, B & F must be used
4) C & H cannot be used together.

5) E. F & Z cannot all be used in the same nutrient

6) A\D&Z cannot all be used in same nufrient.

1 1 92
gisa suitable combination for 3 nutrient’

Which of the followin
a) Aq B, C. F Hints:
b) D, E, H, Z\/ i if 8, C& Zmust
fi) Aq Dy Ev Z 3 ."\,l"\ £ and H must
)C,D,E,F ] \ oA B.F
"8 K, >\ With Cany
H,F,Z -] o zcon™t

s ;’Ega -
"ed by Azhar Afzal Mir
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81
hlems ON days: /
Calendar _related pro (5
Question l: - ) ust (_)ll\. 20147
h 2013 is 2 Friday, what will be Aug F
August 9th 2015 18
Sol:
Technique:
{ | vear X
1) Add | day for normat r=<t:
{ ear |
5) Add 2 days for leap y€ar B l‘
3¥ To check, leap year divide by 4. if year is completely lelslble‘ m
leap year. h
“Question 2: .

If itis Weanesday' on 10* August 2011. What will be the 10™ August 201 |
E

Question 3:

On 5™ of September 1993, Nirma and Raja celebrated their anniversary»;{

Sunday. What will be the day on their anniversary in 1997? _ (
T «
\ I

A\ .
) P |

=)

LSS |
- -\)i\’;// . \

——

Prepareq by Azha, Afzal m
ir

CSS General Ability Notes, www.cssexampoint.com


www.cssexampoint.com
www.cssexampoint.com

; 82

rapter 11: Probapyy;, Rang
. Om Samplin
g

elikelihood of occurrenge an
. oy

vent
st G 3 i, S Calleq
ey event ‘A probab;llty can be " Drobabili[y.‘.

r
Presseq a5 folloys.

e s Ao
AT VAP it gt R
e ~./
Y S

i“ed

ion

| Dample
What :
| 1tis the
. ¢ Proba bili 13 i
of ‘5§’ S
S | ty of 5 When a dice is rolled?
.A’.-\.\ *
> a SN TN
No. of wini ™ . N
: otal ng. of.. : ~
-0 1 ) 4
! I possible outcomes = 6 Jaf
SQ : \:-:v-
-.l'nafe
Yy Azhar Aflal Mir
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1 | €
PGI=% \=\
N % . -~
2 ) .
Example = ing an even result when a dice is rollego
Find the probability of getting -
Sol:
As we know =
d * . No.of ways even can occur
Prob(E) = ~15tal possible outcomes
So,
L g 3 .
Prob(evenresult) = = (Beacuse 2,4, 6 are three even)

Prob(even) = 3

iy, 7 ¢

§ Sy

p
"epared by Azha, Afzal \m;
r
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‘."57 891013“
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4 3 a
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85 18

3: : . P |
Example - ck of 52 cards, what is the p"’bahl_ ‘

y drawn from de

A card is randoml )

drawing 2 queen’

P ys event can occur

No.of wa
prob(E) = “Total possible outcomes

Here event is queen:

ft
Prob(Q) =
1
-

So. 3
Prob(Q) = 1 i
robl®) =13 |

Example 4:

A card is randomly drawn from deck of 52 cards, what is the probability o |
getting an Ace, King or Queen?

Sol:
Prob(Ace) = L AO0E TR A o\
52 13 \ - .
Prob(Kin )_ _1
52 13

\s the evens yre Mutual| 52 13 |
ye
Xclusive S0, thejr probabilities are added UP ;
Prepareq by Azhar Afy,, M . !
ir
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Vfgb(a'A oK) =5t E g
PTOb(Q'A or k) i )
13
hworwmﬂwexduﬁveevunm
\ b
E‘;;J;Z:czrgfsgg (:(t)hZfel?/::l::ally exclusive jf Occurrence of one event excludes

¢ instances either Head or Tail can occur in cage of coin
i ‘

‘ silarlys when a dice i}s ml.l?d'l“et’s Say two events | and 6. If 6 occur it excludes
E ::eoccurrence ofothe?r eventL.e. I; so both the events 6 and 1 are mutually exclusive.
s, their probabilities will be added up.

mmpie 5

\umber is selected at random from first thirty normal numbers. What is the
. guncé that it will multiple of 3 or 137

S
No.of ways an event can occur 4
Prab(E) = Total possible outcomes
y of |
18,21, 24, 27.30.
.3,6.9, 12,15, 18,
Vultiple of 3 in first thirty patural numbers .
mbers: 13,2
Vultiple of 30 i first thirty natural nu .
| . . 1 of 3and 13) can 0C¢ —
} “otabno, of ways events (multiple © =y DN
tene, from (1) | 2 |
nd 13) 730
Prob(Mul“Ple of 3¢

'S
e |
"4 Azhar Afzal Mir : ’ '
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u"li 3

and 13) =

Prob(Multiple of 3

Example 6: ility that sum of o
ed. what is the probability Uteome i 7

When two dice are roll

Sol: ) 4
No.of ways an event can occur
Prob(E) = —Total possible outcomes
: ' Hence.ev‘em:i's ssum 7" by adding the outcomes of two dice.
| Dice 1 Dice 2 ‘
? i 1 16 |
o] 3 ‘]
; ] 3 4 | A O
; 1 ‘ N *
{5 [2 1 ,,/r'j.;.’-“
4 3 i ;:'::‘
So, number of ways = 6 -
Hence - L)
. . e
' Prob(Sum7) =% _ _ 6
6xX6 36

Here total outcomes are 36 i.e. 6 x 6 dye to independent

nt events.
[ ndependent events in Probability:
Events can be sajg independen; if'the o

not influence the CCurre . o
. OcCcurrence o non-oceyrre oy - OCLurrence e eventd
nce of oth
er event.

Prepared by Azhar Afzal Mir
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e (CSS- 2016)
m
W
fation of blood groupg i baseq
mgiic substances on the \Ilrfau. b )r
€

pre\tn(.
€or abyene
ation the blood group ‘“"ribum,n nee of
a4

d blogg . inherited anti-
=0 Imu'lh. In 2 survey of birth
& 1006 People way ay follows:

oo

v P“l
pad blood group “A’, 325 hyg bloag 2re

erson P up ‘i, ad ‘o

" s group @ P \)B "as selected at rapgey, 25 had 0" and 125 AB.Out

:a\'ing blood group AD. + Laleulate his probability of

sl

“ .. No. ;
Prob(E) = of ways an event can occur
5ok Total possible outcomes

P(AB) = 125
1000

25

" 200
' 1
P(AB) =3
i
. Erample 8:

]

: - ins?
When two coini are tossed, what is the probability of heads on both the co

Sol: v
g ible outcomes are two

“h coin has ] and one head s0 total number of possib

“ach coin one tail an

Head and Tail).
, 1

Mo o ; ne coin =3
"obability of occurring head on ©

1
P(H)=73

ties are multiplied

: ’ pabili
gs | 30\}1 the coins are indepeﬂdem SO Pro

b
%red by Azhar Afzal Mir
o < ‘
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Other method:

Sol:

d=2Xi=4(

it Hsse
. coins are toss
Total No.of outcomes possible when BHO 3

events)
L Slo. ot";i/ays of outcomes = {HH, HT, TH, TT|
“Where
H=Head
T = Tail

No. of ways for heads on both coins = | (see among above four pair)

No.of ways an event can occur-

Prob(E) =

Total possible outcomes’
1
Prob(HH) = Z

Example 9:

One card is random| ’
y drawn fr .
that the card drawn s face card?)m % Pask.of
Sol: : ,.{': v

Y 7

.

Prepared by Azhar Afzal Mir
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i
52 cards. What is the pl‘obabm'
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)| L,

e 10 face cards in the deck of ¢+
e like that of Kinp 1. Ve Cardy
" al‘S 15*\ J\l 2 . Sle NG
"k c‘k A ¥ (')“L‘Ln, L% Cards Mean the o
e deck: Yere is ng o er ¢ ¢ card on which
) card with such face

We knOW
\s o

LE No. of Ways qn event ¢
‘ . . an oce
otal Possiple Outcomeg -

1t
[wmple 10:

ohan draws 2 card from the pack of 52 cards, What is the probability that the
ord drawn is card of black suit?

Sol:

ere are 26 black cards in the deck

%

26
Prob(black cards) = =

1
Prob(black cards) = 2

Example 11: .

" INATION". What is the
Ultter is chosen at random from the word *ASSASS
Mobability that it’s a vowel?

- py
sOl: /. 1

.
To .
no. of letters in word = 13

5
| {0ty 3 . . , =6
ln0.01 vowels in given word
: bl'nD '
5Ny
! e by Azhar Afzal Mir
| .
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N,

4
"ﬂ:h:.\_

e

7

AT

91 %
Za N
-\
ot 6
Prob (of getting vowel) = 13 '
/

Example 12:
; , eand 0 plack palls. .What is the chane
A bag contains SYEU Ly pen only one ball is picked randomly? € thy by

is neither black nory

Sol:
5=8'+7+6F21

Total no.of ball )
h'ch is neither yel
whi yellow nor black

ected
yellow). .

| can be sel
her black nor

n whic}l a bal |
only 7 balls which are nett
¢ an event can occur

__No.of way
al possible outcomes

" prob(E) = Tot

No.of ways i
(As there are

7 g
= 21 /"-y,;'?\\&
_1 {
=3 _

y = Yellow

prepared by Azhar Afzal Mir
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B= Bluck

BL < Blue

fint:

| . : .
:JOIB] pgssmx.lmes are 8 .You may check i

§ Possible outcomes .
Coins
=2x 2 X 2= 8
 HHH, HHT, HTH, THH, HTT, THT, TTH, TTT
yow solve it. o
| Queslio.nZ
| (ricket teams of Pakistan and India are playing one ‘day match. What is the
' obability that Pakistan will not lose the match?
' Solve it.
-1

i

W

1 iy -
3 ared by Azhar Afzal Mir
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7 /'

pruhlems

‘ g™ “
Arrangemen atics two techniques Combjp,,
s ~ilg 1

ent in mathem

m of arran gen ,2 ‘

For the proble
"permutation".lrcuse !

Combination: » |
n which order does not matter, calle Lomblnatxon;‘ I

A collection of things i
For example .
; or cri : does .
“Picking a team of 11 players for cricket out of 15 players not require parie,.
order. . .

Formula:

T '
| N
C(n.r)=
( s ) rl(n —r)!

Where *!” (Factorial) = Factorial is the product of descending order of total numbex

i
|
!

eg.3!'=3x2x|

n = No. of things to choose from, | |
r = No. of things we choose, remember

11=1

0l=1

i
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gration:

ol

¢

ollection of things where
wp O

, E\Jlnpk?

crcode of

fheren 1 & !

Exarpl |

()rdcr /
mdn‘:r‘)‘ is cal| [
° alleq p
O
Utatigp

any sate = 24¢

assume t i
he same Meaning a5 Combination

3 AU ard 3 frls STt Ao Tew

L;; 4 (/Zu/ﬂ In heiv mant (vays ar
A 6’7 $rt in ‘clfml‘tt@\fmf(?
] 2.
o[ ..J__L—K—i—»‘—f—‘—
3

N BEER o

A

Dareg e .
ed bv Azhar Af?a] Mir

’Q)t J))’Q qu/ grﬁ Wﬁmz haly
\_/

PR
Jii 6
osof RS =3 (ab WP L
New 1 /,zd/ +h ¢¥¢ f’"‘) s '
be )
Toted 46(U/vl/ heo = XS
/ ] / // ( 5 «*'J"l’ J,»’/"‘!‘\‘_Hll‘y\
‘k‘/“}\j I \ /) y J
b
/'V'(IV/ G K ‘,@
Now b j‘ ¢ X ]
Lw »»/‘4
. . L«jg 1(‘ ‘r—‘\j un - ;(i
. Iy vk ane
Symit farly oL hey) it ' LY J
o ’ Vh e 400 = T4 _
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e l

95 \ ?

.C.F
Chapter 12: LCM&H

iple
L.C.M (Least common multiple)

mE common factors is called L.C. \1 "

: n
“Product of common factors A
hich divide commonly all given Valye

the given values, it is termed as u“°°mmo
more clear:

er w
By common factor, we mean a nur(’;lrl:e o
the number is unable to divide anyk e il
factor. Followingexample will make

Example 1

How many whole brick§'6x 12x24 cm3 will be suffieient to construct a soliq oy, |

of minimum size?

Sol: |
(N.;)): The word minimum hints us that problem is to be solved by L.CM

So. TN
Yy I8 |
2 6.12,24 e N\ |
3 3,6, 12 [ | !
> | L2s s
- L4 'y . S o \‘)1/
._f;? ?5:{'"5.‘.;'}/
2 1,1,2 N aate”
1.1

(2 & 3 are common factors)

So, by definition

L.C.M = Product o
f common f actors and uncommon facto’s

=(2X3)x(2x2)

Side of cube solid = 24 om , ' |

Prepared by Azhar Afzal Mir
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[ L

For volume of Solid ¢y,
ex:

an write logically ag; g
,\\,“C ¢ Yy a8 = N

me of solid cube -

Volu be = VOlume 0,0
i ne bri,
- Volume of s¢j;4 Cube rick x N, of bricks

Volume of
0 =
ne brick = No.of bric

6 xX12x24 :‘N";Df bricks

NO' Of briCkS = 8 .
4CF (Highest common fa'ctor)

3 sefinitron,

e product of common factors only, is called H.C.F."

fample 2
ar field, he plans to put a fencing post in each

t equal distance along its sides. He wants the
f the field are 477 ft. 2412 ft. and 639

\farmer wants to fence a triangul
omer and place the other posts a
s to be as far as possible. The sides 0

tlong. How far apart will the posts be?
wl:

fint: (As far as possible)

3 477,2412. 639
3

159, 804, 213

P

53. 268.7

v “!uire
i 4y Azhar Afzal Mir
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sed to solve for
. 50, not need W -
{ common factors only: 5 Ommm
As H.C.F is product 0t *

tactors.
’ l"‘

Hence.
pistance =3 %3

pistance = 9 feet'

Keep in mind
L.C.M x H.C.F

P

Product . of two numbers =

- Following example will make you clear:

Example 3

L.C.M & H.C.F of two numbers are 150 and 30 respectively. If one numberis

18, find thg other number.-
So_l:' 4
As we know

Product of two numbers = L.C.M X H.C.F .. |

A
W\t
]

18( 2nd number) = 15 x 30

Znd number = M 1
' 18 ¥
2nd number = 5 e

CSS General Ability Notes, www.cssexampoint.com
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v‘i‘ " ‘

t,‘,,ml"e !

ohtS bhnk after an inter\lal of

i’ at 15pmM, when wij » 3 ang _

ol

in
(in Contrast ,as late as

s we know
LCM = (commop factors) x (uncommon factofs)
=(3)x(2x3x5)
sy . : . = 90 min
=1 hr and 30 min.

The lights will blink at 6:30 pm together.

Eample 5
s 153 cm long, and other is

: i sale, one i i
ibbon in a ber of pieces all with

nia buys two off-cuts of a r .
hat she ends up with a num

':4 ¢m long. She cuts them so t
“same length. What is the greatest len

l;

17 | s1.68 __— N
. I

.":oaréd b
¥ Azhar Afzal Mir
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HCF=3x17 | '
‘ N ‘-..s“.y‘; :/
e - d no. of pieces then 1 Y
if o asked to find NO-
Additionally. if you are a ‘ Nlmﬂ‘b
" No.of pieces = 34+4=7
Example 6 . Ry A , |

FmdtheHCFof175 5.6,7

Sol:
- Remove the decimal (use 1 replacing pomt and put no, of zeroes equal to the di

on the. rrght side of decimal point.)..

| | 175 56 (3f°
| 100 ‘10’ k%i | u
[n order to remove 100, multiply 100 together ‘«\ ‘ » \‘J)-:,
\ ;J, ij\

175 56
Too < 100, 0 100,7 x 100

175,560,700

Now, simply

Prepared by Azhar Af2al My
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~ T T
ey

o> "
s Product of common ""‘Cl()rs
gL
L

e

guﬂ“ple ¥

ing walk, three persons . :
o O.rng"ogcm re;peétive[;v \Ovlll,s st.ep"’ff together, The;,
% aid i y- W at is the Minimum, step measure 75cm,
T afall can cover the same distance?: Istance each should walk

mhat
o
> 75. 80,90 -
.3 15.16.18 ;
4 . 15, 8.9
- 15.4.9
2 15.2.9
o
;2¢=5x2x2x2x2x3x5
' = 3600
et

~ g 3600cm.
Yrequired minimum distance 15 360

 Mohareg .
| by Azhar Afzal Mir
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§

Example 8

Amina has two p
90 inches wide. S
as wige as pos

| Sol:

sible equ

For largest pos

So. Amina should cut each

Example 9. €SS 2017

It takes A
a paper. Ift
time they wi

Sol:

Same time
at single point.

sible. HOW w

al widt

- . D
H.C.F or G.C. M (gene¥ on
senltsf o’
piece 18 inches.

mark 2
f they both start mar
g at the sameé time?

li 30 minutes to
he both start i
11 finish markin

means common time which co

101

, is 72 inches wide and o,
o strips of equal Widt;rl[;:“%
at,

e piec
ut both pieces int
ould sh¢ cut

30,25

the strips?

h using HF.C i

paper.Aélam only ne
king paper at 10:00 a.m.

nveys the meaningsof mini

[ C.M =5 x6x5 =150 minutes

prepared by Azhar Afzal Mir
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. ytes means
lzﬂ"""uw O Boury th
j irty o
Y Minutey,

g 10:00 3t becomes 5.5
N e =0pm,
. they will finish marking 4, 131
¥ ).
o B0p
Iy h‘\\
Pe N,
;I ¥ 1'
3
: t )
\ignmen NS4

- exercises every 12 days and Isabe] eve

3\~erci53d today. HQW many days will it be ry 8 days. Ben and [sabe| both

R :
ntil they exercise together again’?

actice problems:

question1: A r‘adio station is having a promotion in which every 12" caller receives
1 free concert tlcket. and every 15" caller receives a limo ride. Which caller will be
e first to win the ride? (60" caller)

(uestion2: Cups are sold5toa packége and plates are sold 10 to a package. If you
4 sntto have the same number of each item for a party, what is the least number of

at  xckages of each you need to buy? (10 of each)
(uestion 3: For a dinner party, Lara is creating individual servings of apgeliz'e-rsi'
Shehas |5 carrot sticks and 20 celery sticks. If she wants egch se{vmg‘;(:1 b; ; af::lca '
iihno food left over, what is the greatest number of servings 21 ‘

us |
{ and other 14 feet long.
Quemon 4; Liza has two P of thread. 712 7 te(itlcl: rrlngzmv pieces of thread that
‘rasewing project, she needs to cut them up 10 Pf;) i o F et ength e,
2l of samme length, with no thread 16t %" What is the ¢
i )
4 she can make them? (7) I _——
| ' i divisible
Quegti o a number 3 s VIS o (20)
“lstion 5: Grayson is thinking of ¢ " |d be thinki g
e smallest PgSSible number thd Grayson €0
1 :'ED
| Areq by Azhar Afzal Mir
A e
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Chapter 13: Solution of Algebraic Equatiom

Linear equations:

:r of variable) one are .
Fauations with degree (maximum power ¢ ) L Calleg Liy
AN
cquations”

i

For instance

x+y=3
4x+ 2y =14
Quadratic equations: | o
“Equations with degree two are called quadratic equations.” - :/' ~
For instance ‘
. 9x? +2y =0

ax* +bx+c=0
*Normally, linear equations are involved in general mathematics.
Developing a linear equation:

Sum of two numbers

oy Xty
o
['wo more than a number —))

Five minus a certain number

Difference of two numbers

6 times a number

I'wo consecutive numbers

Sum of three consecutive numbers

~ X, X+1. x+2

Prepared by Azhar Afzal Mir
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T SRR

104
of tWO numbers is 2()
o (
ol
ore than thrice a number (%) (y) -
0 fl
W | 3()() +
nS )\:"“ple ’ »/
st of 3 tables and 8 chyjpg ;o 4350 , . \‘4/
s 2800 rupees. Find the cogq o MUPees ang A
o I Stof o cost of ¢
L; ;h’"rs . nNe table and one chair. Wo tabjeg and §
Ing
- _.'ﬂl:
Cost of one tape - ,
ind
: Cost of one chair = y
y giverr condition:
3x+8y=4350 - (1)
Smilarly,

2x + 5y = 2800 (2)

v“]uplying ( 1) by “2” and (2) by .‘3w
2(3x+8y) = 2(4350)

ex+16y=8700
o)
3(2x +5Y) = (2800)3
6x + 15y = 8400 .,.f:)
xubtracting (4) from (3) S ‘72%
s -

8
! bfy Azhar Afzal Mir
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5
0
¢
gt s AN ‘-

-\

Price of one chair =y = Rs.300

Using y=3 in (1)
3x + 8(300) = 4350

3Ix= 4350 - 2400

3x = 1950 i
_ 1950 }
DD *="3 ;

x = 650 rupees

Price of one table = R.5.650

Practice problem‘s:

Q,“estion 1: Sum of two numbers is 25. One of the number exceeds the other by
Find the numbers. (8, 17) ’

-

Question 2: Aran is 5 years youn .
. years younger than Ron. Four y n will be twice
as old as Aran. Find their present ages. (1, 6 years) PSS s 1 '

Question 3: Two small pitchers and o

Iarge pitcher minus one smal| pitcher
of water can each pitcher hold? (2 4)

er. On¢

ne large pitcher can hold 8 cups of wat )
y cuf

constitutes 2 cups of water. How man

b

Prepared by Azhar Afzal Mir
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:» equation &
ratic €d Quadrayj
OTmula

’
) form @ quadratic €quatiop,

4
ger‘iables) two e.g.

Is [he e .
Quation \;
“1‘\3" With degree (Maximum power

2
ax” + by 4 c=0 (
. )
xhe uations We Can use quary;, fi
el } : Ormula y
] ';mulatlon techniques and compleung Square vilieiy Hrknown other than
: ;

i o (1)
4 pation (
for®d

#

_; =20V qg
j ‘ 2a
Eﬂmple 1
’ Solve:xz'+21+ 1=0
- ere

. c -—-’T/
[WiC 2(1) .
one -220_ ﬁ o
i = /—
cuPS - - ’
x=-1

i
1

D i L

Ny
.“’ O Azhar Afzal Mir
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107 ,. 2 = :v" M

W2 g ;‘l

Chapter 14: Age Problems Tricks And 4

Solution Of Equations ;

Instructions: §
\ge related problems may be asked in present, past or future because -

present age, past age or future age: other thm these three ages related Dmbl;mi be
not possible. Students try to develop dlrcclly muthcmutlcal. €quationg B are
statement and commit mistakes. Before developing equations directly, make ., 1h.e‘
habitual‘to write present, past and future age in rough golumns as in the ’6|I();§e|1
example. : : g
In some problems only one out of three columns and in others all three
be used, but for aspirants with no mathematical background, it’s recom
on one scheme of problein solving. So, always develop three column
past and future whether all are used in the given problem or not.

columns p,,
mended 1o,

S; l.e. prgSenL‘
Furthermore, you will be provided with some value of present age if not given |e
to be *x". For past age, subtract the given years (e.g. for two years ago x —2 )y
given years for future (e. g. four years later x + 4 )

; - ; . 7oxcade
Following example will make it clear P
. A A"

Prepared by Azhar Afq3 Mir i
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N\ e Y
wa
:ﬁ w man 7 years ago wag 7 timeg
¢ Pl tim ¢ © e
s il be three times the age son, i AR of pjg SO0, Father'
0 e A0S e atr 3
>4 ages,
e A"
/- ,‘1
gick o AN
i Past g8
ont 38 v Fu R "
e Uture age “‘7‘("/“&‘ &/
' '
n S age Of'S Yoo Sen = x +3 =
Zhe
et Tather—=y | Father=y s
ng ;qgeof father =y | Father=y-7 Father = y+3
(7 years ago) ' (Three years later)
ay
 Lyit's €asy to develop the equations without committing mistake.
nt,§ \0

el Lhét the-age of man 7 years ago (past age) was 7 times the age of his son ( Son’s
JIverT i : :

tit astage)

|

%. ey \

y-7= 7(x-7) ;x}'i)‘f\‘i\z"?\:

| o 58S iz
y-7=7x-49 i :"“y:_'
NG ,_‘i(“ .\;.9,:
7x-Yy= -7+49 '_"_i_f,l;m?.-’
x-y=42 O

tcording to second condition

y+3= 3(x+3)

_3-9 k&
3x-y=3
ey by Azhar Afzal Mir
i
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';\
T
S ce ’
109 T
4 ‘-b L W \ "‘
= oS | /!
. 2) 4 ::;';;'\ - ":'
3x-y="0 ( _-”“‘,y;i‘-l'* : 3;,‘" ,‘ f
Subtracting (2) from ( by - ‘ ot 3y IV
7x —.'y =42 '
- 3x;y=+6 \
” W
| 18
¥
x = 12 years Age of som ;
Usingx = 12in(2) . (
3(12) —y = —6
36+6=y
y = 42 years Age of father F
Example 2:
:_«il:l (;st:e)i'::; :;lder than Zain. In 7 years, the sum of their ages is equal to %
Sol:
” ‘\
I T ——— 21{,,.\.
Present age Futureage . _a
; . | Coony ‘Jl" % .‘
I m——— [ = g5 g
A= [y =4 RO R
Let age of Al =x All's age = v+ , o (‘,‘)1'3"\3&‘_;: A l
- = X+7 R A ) of
W - . . "??' S, g?,",
i T r " v ls M ;
Age of Zain=vy e W N et
J Zam S uge: v+ ‘7\‘\._. 2 7 :,’L—’
_ |
: g S 1

Prepared by Azhar Afzal Mir
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W &
o first condition
it
!
o older than Zain i e yp. o b
i ' squal 10 Ali’s only. ¢ add ¢
Al = ziqp, +9
X Y+9

-y future age

X+7=y+9+7

—

-nal age of Ali Original age of Zain

x+7=y+16

“urding to 2™ condition

s

rwa

LL“\ t() ;a"’ agL [h(”

P N
=93 7 )
x+7)+ D=2 A SN
3 36 |8
930 x + 7 + y + 7 = 93 ‘ 4"' :.5 ‘;’,,“/C;I
+y=93"14 af‘:/
2 e
X + y = 79 ( )
(1) & (2)
20 =88
oy Ahar Afzal Mir
—
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.5 Ageof All WDy

x’44yea ; '\"f..;?}
f P AT

L) g 5 ~ !
Using x =44 in (1) Wy 3
44-9=Y G-

s Ty Tkl ‘,“",

Age of Zain T

y =35 years

Problems for practice Do |
. *mother was 7 time as old as he was, She i -

Question 1: 13 year ago Shabir's'
18 vears old. How many year old is
Question 2: A man was 26 year old when his dapghter was born. Now, he s thre
times as old as his daughter. How many year old is the daughter now? (13)

Shabir now? (18)

Question 3: If 5 years are added to a man’s present age and the age is tripled, he
will be 84. Find his present age. {23)

Question 4: A man’s present age is ‘x” years. If his age is 8 years, Willbeé of what

it will be in 2 years. Find his present age,

Question 5: If 12 years are added to

2 5
3 the age of Ayesha, she will be three years

older than today. What s her present age? (27)

AV
i
NOAE
f ¢SS\
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’Chapt;[l‘ 15: Rounding Of Numbers, Profit,
Loss, ental Abilities And Additional
Logical& Analytical Solved Practice

problems

| umber can be rounded by the following three rules:

1) Ifthe dropped digit is less than 5 retained digit remains same.

" pxample L:

the following number up to 1- decimal,place‘?

' Round
75.23
By |-decimal place, we mean one digit atter decimal point is to be kept. S0, 2 s
' the retained digit and 3 is dropped digit. e
: e ‘;, s

ropped’digit ¢37 is less than 5; hence

A.‘A.',‘j
Leesd S eanal O
A RS 5‘\.:,..-"*"‘ ¥
(o 's‘y. A
YE AN D c"" e
I owess v/
el s
AN

hen retained digit is increased by one.

- Asd

| 2) If the dropped di.git- is greater than 5t

Example2:
: Round the following pumber up t0 3-decimal places:
8.1273 ' ‘:@ '
Here retained digit = 2 \(\‘?:‘ v\o%\
" PrOpped digit="7 : “‘fs“;{i:;
7 2

As, dropped digit is greater than 3

I So,

Prepared by*Azhar Afzal Mif
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3) If the dropped digit is 3 th

e When retaine
For instance,

75.650 .

en there

d digit is even. it remain

Rounded f'o_r,l decimal place as:

T

¢ When the retained digit is odd, it is increased by one:

‘For instance,

64.350

are two po

113

§ same

Rounded up to one decimal place as:

64.4

ssibilities for the retained digy.

Rounding of numbers in addition and subtraction

In adding or subtracting numbers,
answer should be equal to the sm
quantities being added or subtracte

Following example will make the concept clear

Example:

the number of decimal places retained in the
allest number of decimal place in any of the

Add the following numbers and round off the 4y,
answer-

CSS General Ability Notes, www.cssexampoint.com
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l1g

A

sl
-'rl "'\ -
v A
28 \
. 003 . el LFY i~ 1
s P

r ¥ 4
1amale

. is one decimal place i
s the least 1S ONE, place in the g;
: . g1ven nump
ers;

0. 75.5

ractice problem B :
tound off the result after subtracting these two numbers
17543,4.10

- Rounding of numbers in division and multiplication:

“multiplication and division of numbers answer is rounded keeping in mind the
%! decimal/least no. of significant figures. Following examples will make it clear:

| the Hample;

the Soly
¢and round off the result:

5.348 X 1072 x 3.64 % 10*
) 1.336 A

E i s

“; a'@n N\
| Mg .
| by Azhar Afzal Mir
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f
s A
: ) -_ |
s 348 x 3.64 X 10° ‘ 3 '
e ,
- 1.336 \_. ;
o\ A.__;“A. !
. As?
Using scientific notation | S |
_ 1.45768982 x 10° T,
Applying rules of ropnding'
= 1.46 x 10°

Profit and loss formulae

7" inthe case of profit and loss, percentage profit %1nd percentage loss is aske

©..“but. For percentage profit on selling anything, following formula of Yoage
used: .

d o ’Nc
profi ;

Profit

0, it =
Viage Profit Purchase price

%X 100

Where
Profit = sel] price - Purchase price

Likewise

%age Loss = Loss
Purchase price

x 100
Where

Loss = Purchaseq price - sel| Price

Prepared by Azhar Afzal Mir
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g Ty
1
i\smple _—
as purchased in 34
e fit 30 rupe ees anq
M ge prO it. Sin
g " 3850 Tupees, Fj
ﬁ" ind the
,()I:
\‘\\ekno“’
- %age Profit = \{%
: Purchase Pricex 00
o proﬁti= sell pl’iCC — Purchase price . ‘1:
e sell price = 3850 | 7:«% : }
rhase pnce 3450 C ot
. (3850 3450)
. : %Proftt = __—-375—0——— x 100
400 x 100
T~
~ 3450
=11.59 -
. __on or Rounding
o (= " shows approxlmanon :
n, percentage profit = 11.6%
ind his
Eﬂmplez Id in 320 rupees. F'n
ces and
A ? k in 575 rup
boy. purchased a boo |
Mreentage loss. i
' 3 e 3
: / ‘,\
- D ‘ "
- ‘ I :7 w‘ﬂ
Ywe know A 181235450 / /

03 )
"*d by Azhar Afzal Mir
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17 d‘“ |¢ﬂ‘5
"
Lo x 100 .5 Atold |
opage LOSS = purchase price NGy, 1 infla‘”
');7 -
Where . LA L
. ; ‘TIZ' W/ ¥, !
Loss = Purchase price — sell price ™ i.j’_’?“" o e
So '. . e Daugh*
Al (575 — 320) i
' ‘pange Loss =575 . 100 voth€
5 .7 3 . the
_ 255 100 .. 50
575 .
. 7 A and
4500 How'!
%age Loss = 7= %
Ans: [
Practice problems: ;
: g € s . . . Explz
Question 1: A trader gains 20% profit by selling a chair in 2700 rupees. Find e
purchase price of chair. (2250). Chas
'Questiqn 2:A shopkeep‘ef get 20% loss when he sells a shirt in 960 rupees, on 3) A ms:
what price should be sold it to get 35% profit? (1620). q
: neph
’ relat
s A ) Ans
~ ¢y S ‘3
5 S B Exp
I i of th
)\' :?“T;;\\"‘é}// .
——— YFis.
brog
S
f%p“&q
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viental abilities,

addition g
all
problems) ogical and analytical solved practice
1) Atold B¥Thegirl I m
etves .
in-law of my friend’s mg:l::e:d“-‘ was the youngest daughter of the brother-
r”. How is the girl related to A’s friend?

Ans: Cousin
Explanation:

. e

Daughter of brother-in —law...... means Niece -

Mother’s niece .......... means cousin % 230,
: NG YL

.\‘-‘:"b‘&ncﬁf,/ ;/
—rr”  *

So. the girl is the'cousih of A's triend.

2) Aand B are young ones of C. If C is the fatherof A but B is not the son of C.

How B and C are related?
Ans: Daughter of father.

Explanation:

Chas two children A and B if A is his son B must be his daughter.
photograph says “The lady in the photograph is my, _
grandmother”. How is the lady in the photograph

3) A man pointing to 2
ster who has no other sister?

nephew’s maternal
related to the man’s sl

Ans:Mother
of man’s sister's son i.e. the mother

grandmother /
mother of man’s sister.

The lady is the
on. i.e., the

Explanation: 3 S
fman’s SISter s 3

of the mother-0
fFand Gisthe _

C is the daughter of A, K is the sister 0

fA,
e uncle of G?

4) F is the brother 0 _
who 18 th

brother of C then

.\.’,‘/ v N\,

)
rd

.
B
QL’

Al A

Ans: A

o

o swal
Ty, e r——
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\ e & B ‘
119 \‘;.' 4«327 |
\ o) B W !

' ¢ A and F is the brother ot A, sg | 'STEEL.
Expl tion: C & G are children ol / N
xplanation: |
of Cand G _ [

. meets another woman and onbejn .
by meet: o ol ”
he boy, she says y maternal uncje oy,

», How is the boy related to thll
e €

#

A woman walking w.ith 2 :a(
about her relationship wit ol
maternal uncles’ maternal uncie a

woman?

n
~—

Ans: Son )
Explanation: Boy’s maternal uncle will be brother of boy’s mother.-Maten,
uncle of mother’s brother and matérnal uncle of lady are brother means [agy
sister of mother’s brother i.e. lady is the mother of thg baby. So the boy i
woman's son " .

Six members of a family ABCDE and F are travell'ing together, B is the’son

o,

6) .
of C but C is not the mother of B. A and C are married couple E is the
brother of C. Dis daughter of A .F is the brother of B.How many male
members are there in family?

Ans: 4
Explanation: E ( brother) C (Husband),A (wife), F & B (sons)D (daughter). A is
the wife of C and their daughter is D. The remaining members are male members.

7) )A,B,C,D,E & F are six members of 3 family
2) One couple has parents and their chilg in ¢ ilve SEaeers o

) . ren in the family. {88808 (N
J)A Is the son of C and E js the daughter of A _ !y‘-‘ e {SQ;«#,/\
. o Y L A7\
4)D 'ls‘the daughter of F why js the mother of E, o !:‘\_;05‘5,_z é‘
Which of the f i _— U
" ()'llowmg Pairs is the parents of the couple? .s \\5‘3’,:;/

Ans: BC. © - e f‘.’::‘!f;if""\.\"’/

E and hence the hush 5 'F ishthe mother of E.So. A is the father o:
e ' > the 4 3 are !
e the parenps o FALSO. A is the sop o oo < daughter of F. S0, D & E P
parents of A.Hgnce. Band ¢ are the I.Jar;)“:" only B remains. Thus, B
nts of the couple.

Explanation: E js the daughter of A gnq
and of F.Now,
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. A woman introduces a

n as
the man related to the wq, as the

50
nan? N of the

brother of her mother. How is

\ns: Cousin

E‘plnn”tio": Brother of mother ’
............. Uncle 15} "2l 4f

['nclc's TR Cousin g

d B that Cis hi :
g Atold B : is hlS.fa.ther#S nephew. D &' conste pot
C. what is relationship is there between D) ang (C:?)USm but not the brother of

nd C?

Ans: Sisters

Explanation: A has two .cousins C and D. Si _
. Since C -
And both are the nephew and niece of A’s fathert.e S mu5.t b Semaal:

10) AB,C [?9 E, F & G are members of a family consisting of four adults
and three children, two of whom F & G are girls. A and D are brothers and

_Ais a doctor. E is an engineer married to one of the brothers and has two
children. B is married to D and G is their child. Who is C?

Ans: A's son.

arriedto A or D.But B is married to D.Thus A, B.D&E
C.F,and G are the three children of family. B and D have
n C & F .Now only F and g are girls. So Cis a

Explanation: Eism
are the four adults and
achild G. A & E have two childre
boy. Thus C is A’s of E’’s son.

n, a man said
» How is the w

“His mother is the “ |

to a woman,
hat person?

I1) Pointing towards a perso oman related to t

only daughter of your father

Ans: Mother |
father is herself.

’ ‘s |
Explanation: The only daughter of woman's

'g son.l.e. Th

's mother.

So, the person is woman

) is the uncle of this girl’s
2)  Pointi the girl 8 ma" said “MY uncle\ls
. ointing out to0 4 to that girl'-’/,;e"g\

uncle”, How is man relat¢

Ans:Father. (il Sy
foad a9

P g
BPared by Azhar Afzal Mir g B
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¢

. U \
\%
A 2

»

R A ‘4
(f ~' t,

9"

A

121 R AT
R W

e and the uncle of girl 15 the same-person, .

‘s uncle

; he girl. m,i

B, C, D, E and F. Aang ar :

D is the only son of C, who jg ‘he s

jaughter-in-law of F, Wh(,si

Explanation: The rpan ~
may be the father of uncle ©

six members A,
le member.

13) In a family, there are
D.B is the ¢

married couple, A being t!leten:ﬂo
brother of A. E is the'SlS her
husband has died. How is E related t0 N

.
{
-1
5
4

Ans:Daughter.
Explanation:A is male and married-to B. . \f«,:.\,,/ :
iy her of A. D is the son O't‘d,’:\’?d

el

So. A is the husband and B is wife. C is the brot

E. who is the sistér of D will be the daughter of C.

‘B is the daught.er-in-law of F whose husband has died means F is the mother o

A. '
Hehcg. E is the daughter of C.

14) If S is brother of N, the sister of N is M, the brother of P is J and the

daughter of S is P then who is the uncle of P?
"2 An's:P'

Explanation: As J and P are real brothers and their father is S whose brother s

N. so N is the uncle of ] & P.
f

15)01' g’:el:e 2;: Zple)"_sons A,B,C,D,E & F .C is the sister of F.B is the broth¢r
i) I:!li) . n L. is the father of A and the grandfather of F. There are ™"
, three brothers and a mother in the group. Who is the mother”

Ans: E

Explanation:D is the father of
: rofAa
Thus, D and A are two fathers. C i

the mother C and F. »1t1s the evident that E is the wife of A and ¢

16)  A'girl introduced b
uncle. The boy is girl’sg “'boy as the son of the daughter of the father of he"

Prepared by Azhar. Afzal Mir
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4

“ “ N .
nele's sister..... Mother:

the Mmoth
erof Band F i
not deﬁnitely B % 18 the father of

122
\ns:[;rmhcr.
‘ ation: Daughter of
l‘\phlﬂ unele' fu
ather
\Iolher's son..... Brother.
I
l)e
A S the brother of B and kv
l \ which of the fOHOWing - , D i
are i ¥ ement iS
the \ns:A is the father of k
Ogg '

oty N
o
3 ) There are 6 persons A, B, C, D,

AW

3] Explanation:A, B and K are brother gng ;
§ vife. So. A s the son 6f E and D both,a.nd sisters. £ & D may be husband and

E and F .Cis't"lie sistér of F. B is the

, .
brother of E’s husband. D is the father of A and grandfather of F. There are

)
j two fafhers. three brothers and mother in group. Who is E’s husband?

Ans: A

%1 Explanation: D is the father of A and grandfather of F. So, A is the father of F. '
Thus. D-and A are two fathers. C is the sister of F. so, C is the daughter of A.

Since there is the only mother, it is the evident that E is the wife of A and hence

the mother C and F. "

he
So. B is the Brother of A. There are three brothers. |

So, B is the brother of C | P

s{  Hence, A is E’s husband.
man said «[ have no brother or sister but that
a

%) Pointing to a photograph
o man’s father is my father’s s

Ans:His son’s

Explanation; Since the narr
the man who is talking is the
'he photograph is his son-

tor hos I
father of the

n”. Whose photograph was it“.’

ther's son is himself. So

is fa :
i s h. Thus, the man in

othe
s no br photograp

man n

what is A to D?

fC.
) . . husba“d 0
el 0 . Lif D 1S :
Al the mother of B and € .-
A L
! Pre e ‘l: 2
D L V|t
ed by Azhar Afzal Mir eIty
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-

i = 270 )
{ g 3!
Ans: Mother-in-law — of D- Y- , 5\,;;#'
¢C and C is W G, B
.. A is the mother © L Py
Explanation: / of A . G-10A,
s son-in-1av gk )

aw of D, 0f Di .
T sister of F, B |

B C D E qiid F4C 18 tz: :;ler OfFFTB IS the

2)  There are ¥ P, ¥ t;le father of A and gran '8h f‘th f hel:e are
brother of E’ " . " Which of the Onowmg y
two fathers, three ro

a group of brothers? -

So. Ais molher-in-l

an ABF ) . - 5y ’
' ather of F. S0, A is the father of

& j sandf

: . . [is the father of A and gran \ : |
i %:plél[l)atm: .ADa]rzt[ue/’o fathers. C is the sister of F. 50, Cis t‘l'!e d'fiughter o
- Thus, D an t is the evident that E is the wife of A and hence

Since there is the only mother. I

the mother CapdF. .
So,B s tﬁe Brother of AT here are three brothers.
So, B is4 the brother of C. so three brothers are A,B.F.

22) A man is said to a lady “your mother’s husband’s sister is my aunt”. How

is the lady related to the man?
e
Ans: Sister . r;:'—'i‘:\f \
. NOAY
Explanation: Lady’s mother husband........... Lay's father 085 |3
Lady’s fath - 3% s )"/f |
y’s father’s sister .....Lady’s NN A
V's aunt X "’:,\‘?‘1’:“( o
o A;"ﬂ,1‘ _‘

So, lady's aunt is man’
0, lady s aunt 1s man's aunt and therefore lady is man’s sister

23) A fémily consists of si
; X members P '
but R is not mother of Q.p v B X, ¥ and 2, e i
: -Pand R ar i ;
; ‘( is the daughter of P.Z js brother sf'?)aw::: icso:lhplc;‘ Yh i tl}eQb: e
e € father of Q.

Ans: R
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Y | S

1erof F
erof i
1d hence

124

.« of Rand 50, she is the sjste

2N . :
i R is the father ot Q,

\\{ l)'

brother of R and Z is the brother

+ B.C,D,Eand F are membersg
ﬁ W) .\v . S ()fa club. There s "
| " .a the group- A is thﬁbrother of D’s husband .C is thare Ngdmarr;e(vivcouple,ss
,\\-gociﬂ'i(’“' F is a Sitar plnycr, and Bq S the president o omen

chelor. B’s wife i
he club. Four of them belong to the o s wife is not a member of

: How is F related to B? me family and F are colleagues in the

club.

.\nq:'lt is not possible to determine.

£ xplanﬂﬁ‘"“ According to the data there are two female members D and C of
he club and data is not sufficient regarding B and F.

If X is the brother of the son of Y’s son, how is X related to Y?

1)
. = .- I, * ‘ .jf',..; i
Ans: Grandson ",‘m . i
pRar i ‘ \[ O A% \
Explanation: ‘ 10, 5; |
‘ v 0312364567 1S |
~ N ~A\aE, :\;'_. v,{
Sonof Y'sson........ Grandson \f%\?ﬁ: smﬁf/*j
of : ' By
Brother of Y's grandson.. .Y s grandson. ‘

SoXisY's grand son- hter of my
w @ \;'oma'il said “His wife 1S the only daug )
%)  Introducing 4 man, 2 lated to the woman’

father”. How is-the man ¢

Ans; Husband.

' Myselt
her.....: Vi
Explanation: Only daughter of my father--; -
. ’ ) |
So, the man is woman $ husber RX. Y and Z. Q 18 thej:m (;l;l;
Rl i brother
) 5 ix mem ers P.Q ed couple Y is the il
‘) A family consists of sl ad Rare marr e "hildren does
but R is not mother ?f %li)sabrothcr of P. HO .
-X'is the daughter of *-
Ans: 2 i !
y / » f:;’
i % :\ : ”55,1.5‘.";{" /.4 l,.
g ‘..:};‘(.‘ {“:‘
Prebared biks K e mo ksl AR ‘,,A‘ ,.:“’f:—'-»"’
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b= )
/
210

126 ‘ " ':/

~oEd
-

o, SR s tather of
but R 15 not the nm(ht.\l(- S‘:}R daugh ()t:). P
: ‘ s the de erofp

" " o Of Q. A IS . )Iand 1
Explanation: °R and mother of G the | |

, . pis the ‘ e .t of R and Z is the by,
married to R.So, P15 ll'xg |\._- A e T v is the hmlh;l) fRandZist Ch“:l)thu
hence of R and f;().lahc l.s] l(:l ]; ‘.“d 1 18 laughter of P.S0, oy
of P. Hence, Q) 1s the 501 ‘

O 15 the son of R
vife 0

. T and U. There ar
e P, Q, Ry Sy T an € two §
six mcm(lj)(;:“:‘ attfer of T.U i grandfther of R ang
of T and is housewife. There is one doctor, §
nd two students in the family, §

28) A family consists of
married couples.Q is a doctor an
is a contractor. S is grandmother -3y
one contractor, one nurse, one¢ housewl

What is the profession of P? (

Ans: Nurse ‘ ;
i ather of T. S, the’ sewife is the grand

Explanation: Q, the Doctor is the father of T. S, the House g mother ]

of T and hence the mother of (). Since there are ()n!y two mamed couples oné beipg
that of QQ, the grandfather of R i.e. U must be married to S

Fhus R and T will be both children of ) and these must be students. So, P who !
remains shall be the wife of Q and she alone can be the nurse.

29)  Pointing to a photograph of a boy Suresh said “He is the son of the only § !
son of my mother”. How is the Suresh related to that boy

Ans: Father

Explanatior;: The boy in the photo

atior graph is the only son of the son of Suresh’s
mother i.e., The son of Suresh Hence, X |

Suresh is the father of boy.

-l ) 1

._EO)Ao/l:;A+B meafls A is the mother of B; A-B means A is the brother of B: |
of means A is the father of B and Axp means A : B . which

of the following shows that p S A'1s the sister of B, |

is the maternal uncle of 0?

. Ans:P-M+Nx(Q)
| Ex.plgn.htion: p 4 ) -'"\“b/ﬁ\
: 2\
o o+-.Pis the brother of M R L = ?): )
MNLL Mis the mother ofx, o ;7’?7‘;:‘ : |
NxQ............ N is the sister of W ,-»_: e
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- = o

e o~y

"

ly

s

{B

"' \xB means A is the father 0

Y
126
herefore P 18 the matema| ynyq
0 ()

If AtB means A is the brothe
rof

i)
3 A- :
fB. Whiep b means A is the sister of B and

o 9
gon of M’ of the following means that C is the
Ans:MxN -C+F o
Explanation: \ ‘(S) '{-\\\(%
AN e M is the father of N -./i.zﬁ.s,see.z 3 ‘?")‘,
S
N C e N is the sister of C )\;&/
(+F......o- C is the brother of F |

Hence. M is the father C or C is the son of M

- 1) Introducing a boy, a girl said “He is the son of the daughter of the father

of my uncle”. How is the boy related to girl?

Ans: Brother

Explanation: The father of béy‘s uncle ....... the grandfather of boy and daughter of

the grandfather ... sister of father.

a Po'inting o photogrﬂPh Lata says “He is the son of the only son of my
'grandfatl'i'er”. How is the man in the photograph related to Lata?

Ans:Brother
' e only son of Lata’s

h is the son of th
the man is the brother

otograp
er. Hence,

E’iplanation;T.he man in the photograp fath
grandfather i.e. , the man is the sof of Lata’s fat

of Lata, &
e son of B; and

. AxB means A is th
P A M is the

. B
A is the brother ! hich of the following means

)  [f A+B means
r Of A then w

A%B means B is daughte

o —

maternal uncle of N? Lels
. . e
Ans: None of these. st a ' :;‘ - ‘«')’M
; S
oot known 2t ST @5/
Explanation: Because the S of 0157 N by s
e

:'e
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147 3\
: e L.""v ; /‘:.}
R?'-"" G
(B: A-B means Ais tl:‘e hr(;tll;er of B; A%
; 0 ’ [ > t er o Y i
he father eans A is the mo Which ¢ the

ot .
35) IfA+B means & if B and AxBm dmother of T?

i ife 0
means A is the Wi ; i
following shows that M is th
Ans:MxN%S+T
Explanafion:

MXN .

S+T..........S is the father of T

Hence, M is _maper-nél grandmother of T

36) - Pointing to a photograph,Bajpai said “He is the son of the only daughter |

of the father, of my brother”. How Bajpai is related to the man in the
photograph?

Ans:Maternal uncle

Explanation:The man in the photo is the son of i % irval ipal
; n ot th al
is the maternal uncle of the man i the photograph " sster of Bajpal. Hence, B

37) Deepak said to Nitin «
of the tfvo boat|her: g‘lttllx: d;r: a;tboy Playing with the football is the yOl""ger
football isrelated Deepgyy — + Of ™ father’s wife”. How the boy playi®

5 Ans:Br-other

Explanation:

Father’s wife

and sister’s
Deep sl YOUnger brother

ther, '
* Hience, the d g tef
MRANS broghe, 1 ST Of the mother means &

~ Y o
- ieretore, the boy s the broth

5

-,
~ .
S
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Pointing a ph
18) photograph x saj
X said to his fri
lend Y *

" tne father of my mother”. How X she i
A 1S related to th IS the only daughter of

e
s Son person of photograph?

Explanaﬁon: [he only daugh i ¥

y daugnter of the father of X's mother m m X
| : er i
ence X is the son of the lady in ph Gl
. y In photograph.
the 19) If A+B mea i i ‘ w

3 + ns A is the sister of B; AXB means A is th fi
e wife of B, A%B

means A is the father of
) B and A-Bm ‘
the following means T is the daughter ;?;?, A is the brother of B. Which of

Ans:P+Q%R-T+S
Explanation:

PO s P is the wife of Q

O%R...Q is the father of R
R-T.....R is the brother of T

thter  -T+S ... Tisthe sister of S

i the |
Therefore, T is the daughter of P . .
{) Pointingto2 woman, Abhijif said, ‘;Her daughter is the only daughter of
jpal © my brother”. How is the woman related to Abhijit?
Ans:Mother.
mger e .
aying Explanatxon. | i
Daughter of Abhijit's brother means niece 0f Abhijit. Thus the g;rgnddaughter 0

the woman 1S Abhijit’s niece.
of Abhijit.

an is the mother
». How is

the wife of th

Hence, the wom
e grandson of my mother

geer D Amit said «This girl i

)
. . () -
her of . Amit related t0 the gll'|~ CETS TN
" o> a4 2y ‘-\
5
DA 2)
,_';55 ’_‘: \
b rife |
et o abeal MIT . AR o/
a ir /
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Ans:Father-in-law ‘ B A
- of Amit’s mother j,

; o is the wife of grandson Aot e,
Explanan?n:Thc; imi[ Hence, Amit 1S the father girl, |
the wife of son OI .

D. Who is the father of A? To answe, .
ig

42) A and B are children of ts (1) and (2) is necessary?

question which of the statemen
C is the brother of A and son of E. N

Fis the ‘moth‘er B . ' b i 2
\gs:Only (2 :
Explanati(:)n': .
A énd B are children of D. ' | ;
From (1), C is thé brother" B and son of E.

Since, the sex of D and E are not known. Hénce (1) is not sufficient to aﬁs‘wer the
question. . .

I:"rom (2)Fis the mother of B.Hence, F is also the mother of A .Hence D is the
father of A.Thus C is sufficient to answer the question.

4 . . ..
3)Of mPomtu:lg tgwards 2 man a woman said, “His mother is the only daughter
Yy mother”. How is the woman related to the man?

Ans: Mqther. -
.Explanation: ; ' ' o
x‘p anatlor_l_. Only daughter of My mother meang mYSélf ry

Hence, the Woman js the mother of the ma
v n.

4) 1 ntfo‘ducin'g Sohia

broi Amlr sayg ¢ g L ‘ y
ther of my mothepn. How Soniq She is the wife of only nephew of !
N . IS rej 3 . *
Ans:Wife. ated to Amir? o
’ ;5 s‘(‘\ \,
- N %
EXplanatlon; . Xy ?\ "Q".::\
, : T / -\Q M
, o X3
p . >/ 2
reoare.d bV.AZf]ar Afzal i, ; _ = 7 .@b £

‘
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{ Explanation:

sthe father or Uncle of Madhav.

130

i er me
gt 0 m?\t:\ir himas[lslfma[ematl uncle. Hop,
.,{de means / . ThEretOre S0t ¢e only

' 1215 the wife Z?F;:’;:r of Amir's maternal
(f A+B means A is the brothe 4

£ A is the si Fof B; Ay

\"B means Sister of B

- Whict itihe means A is the father of B and

p? fo""wi"g means M is uncle of

MK TP Atk
\nS: - 7 ;
fyplanation: a2 Ve

S\ (B

; \ 4 - ol \T A \f//v
Y QRIS M is the brother of K M,A\,Q 4
" X ] * .>;—1T‘g\)f>
T K is the father of T i
(0T |

P TS the sister ofP.

werefore, K is the father of P-and Mis the uncle of P.

%) Pointing to Vahﬁan, Madhav said “I am the onl;‘; son of the one of the
)sons of his father”. How Warman related to Madhav”

Ans:Father or Uncle

Fathere

f Varman's father means Either Varman

Vla( hav 1S th l ~ ~

ank said Jated to Shashank?

. ash .
1)) Introducing 2 womaln, Sh anisre

at wom
daughter of my son’- How th
Ans: Daughter-in-1aw

nce.‘ the woman is the
Explanation: |

daughter-in-law of Shankar
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2
AXB means B is the husband ()fA M

. f A; ; h
48) If A+B means B is the brother 0 B means A 1S the father of B, Whicig ., 11

A-B means A is the mother of B and A;:othe grandmother of T? o
of the following relation shows that Q i
:Q- %T / : s 51)
e he mother of;) o/ NUH LY di
ion: is the m - 595 %
Explanation:Q-P....... means Q ,t ST _-'} »
P+R.......means R is the brother of P v M%" N
§ = ) \..\ u.w w:
Hence ...Q is the mother of R oo
ath
R%T ....R is father of T
. ‘ Hen
Hence, Q is the grandmother of T ;
o - R 1)
49) A3P means A is the mother of P 1
Adpmeans A is the brother of P ) i
A9P means A is the husband of P . L
p
ASP means A is the daughter of P
' ' Pis
Which of the following means K is the mother in law of M? .
Ans: MIN5K3) - i
Explanation: Dis
MSN.... M is the husband of N (3 Nu-™ 41 The
NSIS.'... N is the daughter of K . ‘.:‘\ .‘5’,‘:‘);'-&? ’,-.‘.“} 53)

)

/. \’;:’v s 3

~
% PN 8

Hence...Mis the son in law of K
K3J.... K is the mother-ofJ
“Hence, K is the lady

g

Hence, K is the mother-in-law of \m . '. &'
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pointing toa phOtOgraph A

) ; ]ah said «
§ graﬂ(jfathe,r' . How is the map | aid,

A0S: rothe
mﬂanation:
; A" in the photograph is the son of An

Anjanls father. Hence the boy is the brother of Anjali son i.e., the son 0

pointAing to a person, Deepak said; “His only brother is the father of my
daughter’s father. How is the person refated to Deepak?

E E K /"liin‘c:
ans: Uncle 29
' . ‘3f
pplanation: o é:\ ‘ e
% S ,(_"'l_,a'k“ "v-
rather of Deepak’s daughter father ...Deepak’s father. , 'Lk & &

4ence'the person is the brother of Deepak’s father.
fherefore, the person in the .uncle, of Deepak. —
‘i 5) - Pisthe mother of K; K is the sister of D; Dis the fathgr o How! :
toJ?

Ans: Grandmother

Explanatidn:
- Pisthe mother of K
| Kis thg;: sister of D

Disthe father of J. p is the Grandmother of J

- is the wife of B; A#B
which of the

;o of K and
Therefo'.elj iS the nephew or n'ece

" rof BAS " ther of B,
) 1fA$ B means Ais the brothe +g means A lspt?he e
f B an . 1aw Of
means a Is the daughter ©' ther-in-la
following Indicates that uisthe f

P
Ans: P@qSTHU*W . on~~-(1) f iy
“Qlanation: p @ Q-> P is te wire i &

o
*Rareq by ashar Afral Mir
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QS T.....Qis the daughter of U... (2) N
) 31 [P T is the daughter of U #

iC
Hence, .Q is the son of U.... (3)

U*W ........ U is the father of W.

From (1) and (3), U is the father-in-law of P.

54) Introducing a man, a woman said, “He is the only son of the mother of

mother. How is the woman related to man?

Ans: Niece -

Explanation:
The man is the only son of the mother of the woman .Hence, the man is th

maternal uncle of the woman.so, and the woman is the niece of the man.

55) Pointing to Gopi, Nalni says, “I am the daughter of the only son of hi

gréndfather". How Nalni is related to Gopi?
Ans: Sister.
Explanation: Nalni is the daughter of the only son of Gopi’s grandfather. Hence it's
clear that Nalni is the sister of Gopi.

56) A’s son B is married with C whose sister D married to E the brother of B.

0 g
S A

How D is related to A? WY, 1o\
O LA
Ans: Daughter’s-in-law W as  \z
Explanation: P N
RALAES

A

Since E is the brother of B
Therefore, A is the father of E

But D is the daughter-in-law of A.

57) Pointing to the lady a person said “The son of her only brother is the
~ brother of my wife”. How is the lady related to the person?

prepared by Azhar Afzal Mir

CSS General Ability Notes, www.cssexampoint.com

131


www.cssexampoint.com
www.cssexampoint.com

134

er of father-in-law.

L sis
fxp""aﬂon
of person’s wife-> brq
3!0t: rr is brother-in-law of th:her N-law of the Person
yot o-law of the person of th PEson. Therefore o BHence the son of lady’s
alf € Person. Hence the lad rother of the lady is the
g5D means B is the father of p : ady is the father-in-law.

490 means B is the sister of D. | Ni AN 3
0 means B is the brotherof D, =~ =% 4 2

, i G /LY,
gpmeans B is the wifeof D. « ~~ - :_i‘ﬁ“/fy’

ame?,
¥ wnichof the following means F is the mother of K?

Ans: F3IM5K
pxplanation:

am->F is the wife of M.
v5k-> M is the father of K.

i Therefore, F is the mother of K.

%) A$BmeansAis the father of B;A#B means A is the sister of a;:fr:‘ r:fe:::
" Ais the daughter of .B and A @B means A is the brother of B. whic

s following indicates that Mi
s QSR@T*M
bplanation: & e -
Q$R->Q is the father of R
R@T->R is the brother of T

' fence, ->Q is the father of T

.. "M->T is the daughter of M
Hence, ->M is the mother of T
{ N

n ence, M is the wife of Q-
5 { ;

I
i
;

Pre
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~ Explanation:

Ans: none of these

~n

aw
=
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- N

i

-

f B;B*C means B is the son of ;¢ @

e brother 0
60) If AS B meansAisth " Als the son of D. how C is rely

means C is the wife of D and A # D mean /
toA? 1’
Ans: Mother
Explanation: Ly ~ @) = ﬂ'
A 'S B ->A is the brother of B \ PP / ¥/ !

B *C->BisthesonofC
Hence, -> A is the son of C

h

C @.D->Cis the wife of D

Hence, ->C is the mother of A

61) Pointing to a girl Sandeep said, “She is the daughter of the only sister of

‘father”. How is the Sandeep related to the girl?

Ans. Cousin
Explanation:
The girlv is the daughter of the sister of Sandeep’s father. Hence, the girl is the cousin

or Sandeep is the cousin of the girl.

62) Pointing to a boy in the photograph Reena said, “He is the only son of the
only child of my grandfather.” How Reena is related to that boy?

The boy in the photograph is the only son of Reena’s grandfa;ther’s only son; i.e.,
the boy is the only son of Reena’s father

63) If Mx N means M is the daughter of N; M+N means M is the father of ;M
% N means M is the mother of N and M- N means M is the brother of N then
P %Q+R-T x K indicates which relation of P to K?

2 s F F

-

Explanation: -

P %07 -> P is the mother of Q =
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CSS General Ability Notes, www.cssexampoint.com 133


www.cssexampoint.com
www.cssexampoint.com

136

R qis the father of R

(>R is the brother of T

onces” 5> Qis the father of T A
{3}
. \\ A
E I (>Tis the daughter of K : "$3
| ) \‘-'{.‘.93‘4 2
4onc® > Qis the husband of K. B e/ s
,a’/’

erefores P isthe mother-|n.|aW of K2

f P+ Q means Pis the
- oans Pis the s‘stert:'fOthEr of Q; P x Q means of P is the father of Q and
S of Q, which of following relations sh
- piece of K7 £ shows that / is the

ans: K+ yxl-Z
pplanation:

. (sy->Kisthe brothér of Y

of my _
x> Yisthe father of |

Hence, -> K is ,thé'uncle of |
andi-2-> 1 is the sister of z

cousn | fence, > 1is the niece of K. | " e
‘ «“This girl is the daughter of only @

phisek says .
of Abhisek’s v wife to that girl?

%) Pointing towards 3 girl, A
o of the child of my father”. What is the relation ©

. Ans: mother
Biplanation: ¢ This means the girl is the
e /Abhisek’ NiM self. 70
,SOn : ?nly the Ch“d Of mY father meansk'A:Iife e th h Of the glfl
da - 5 isek’s
fN * “Ehter of Abhisek. Hence, Abhis€ ist mother of @andP is the son
1 ters,
ﬁ‘tﬂ " Ais the son of C; €2 and Q3¢ *° nts is true?
of“ * °fZ which of the followinE. staterm® TLILY
n 7 N\
"s:P is the maternal uncle of A . L AM Ll
Solanation: i 2y
v » j‘ .:»' ‘
P, ﬂ"‘ :,/
k “Mared by Azhar Afzal Mir
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C and Q are sisters and A 15 the sO
mother of Q.

Logical rea

Directions to solve:

Read the question carefully and writ

l. Four defensive football players are €

n of C. hence,

e the correct answer:

C is the mother of A or 7 5 the
soning ‘%, s

hasing the ppposing wide receivey,
hind the ball of Cafﬁer. Javed and

PR

—— 0N wee

who has the ball. Qaiser is directly behind tF _
Baber are-side by side behind Qaiser. Zia 1S behind Javed and Babe,

Qaiser tries for the tackle but misses and falls. Baber trips. Whic

defensive player tackles the receiver”
- Ans:Javed

‘Explan.ation:After all switchiné ‘was done, Javed was directly behind the
. receiver. Qaiser and Baber had fallen. Zia remained in the rear

In a four day-period Monday through Thursday each of the following
temporary office workers worked only one day, each different day, MS.
Johnson was scheduled to work on Monday, but she traded with Mr.
Carter, who was originally scheduled to work on Wednesday .Ms. Falk
traded with Mr. Kirk, who was originally scheduled to -work on
Thursday. After all switching was done, who worked on Tuesday?

Ans:Mr.Kirk.

Explanation:After all the switches were made, Mr.Kirk worked on Tuegda)

~.Mr. Carter worked on Monday
Thursday. . onday, Ms. Johnson on Wednesday and Ms. Falk on

Four people witnessed a my

the mugger. Which descriptiggmg. Each gave a

on is Probably right
Ans: He was tall, thin and middle ageq

different description of

. LS A
w b
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Explanation: Tall, thin ang middle .

repeated most often and are. " ted e the clements of Serpricn

4. Ms. Forest likes to let the students
however, no pair of students may wo:
per!OdS ‘m row. Adnan and Baxter have
per!ods In a row. Carter and Dennis %
pel'IOd.S n a row. Carter does not want
be assigned to work with Baxter?

tudied together seven class
have worked together three class
to work with Adnan. Who should

Ans:Carter

Explanatlo'n:Baxter should be assigned to study with Carter. Baxter cannot be
assigned with Adam, because they have already been together for seven class

periods. If Baxter is assigned to work with Dennis that would leave Adam with
Carter. byt Carter does not want to work with Adam

5. At the baseball game, Henry was sitting in seat 253.Marla was sitting to
the right of Henry in seat 254. In the seat to the left of Henry was George.
. Inez was sitting to the left of George. Which seat is Inez sitting in?
Ans:251 . &
Ex;iia‘n’ation:‘lf George is sitting at Henry’s left, George’s seat is 252. The
next seat to the left, then is 251

6. As th’ey‘prepare for the state championship, one gymnast must be moved
from level two team to the level 1 team. The coaches will move the
gymnast who has won the biggest prize and who has the most experience.
In the last competition, Roberta won a ‘bronze medal and has competed
seven times before. Jamie has won a 5|Iver.medal and has comp?ted a
fewer times then Roberta. Beth has won a'hlgher medal than Jamie and
has competed more times than Roberta. Mlc.hele has won a bronze meda:l
and it is her third time competing. Who will be moved to level 1 team"

Ans:Beth.
Y : ‘goest prize ibed as higher medal than
ion: the biggest prize. descrl .
Exp.la’natlo_n.BCI!’hWas'e‘ been [Eld was a silver medal. Roberta anfj Michele
i)an;]le . wglciz\?medals which are lower ranking medals than silver. Beth
oth won bro ,

ime berta who has
is also described as having competed more times than Ro

Prepared by Azhar Afzal Mir

LW

S SRR

CSS General Ability Notes, www.cssexampoint.com

- L"““_

136


www.cssexampoint.com
www.cssexampoint.com

4 i
X ’
7 Al /

Y\
A v/ "
SO 0¥y

149 " I0/4 te

bed as ¥ competed fewer timeg
e riped s )

L hree 1IMES. [ herefore, Beth has
on the biggest prize to date,

Jamie | havin
amie i
has competed |
and has W

‘ decided that ¢t
haring a pizza. They
7. Four friends in the sixth grade were 5 )
oldest friend would get the extra piece .Randy I tw'o :‘::::: :::!:’l ;han
Greg, who Is three months younger than Ned. Kent IS , er

than Greg. Who should get an extra pi

competed seven Lines
than Roberta and Michele
competed more times than the others

ece of pizza?

Ans:Ned. o
two month older than Greg then Ned is thfee months

Explanation; If Randy is .
t is the younger than -

older than.Gregand one month older than Randy.Ken
both Randy and Ned. Ned is the oldest.

8. The high schopl math department need to appoint a new chairperson,

which will be based upon seniority. MS. West has less seniority than Mr.,

'femple, but more than Mr. Brody. Mr. Rhodes has more seniority than
Ms. West, but less than Ms. Temple .Mr. Temple does not want the job.
Who will be the new math department chairperson?

Ans: Mr. Rhodes.
Explanation: Mr. Temple has the'most seniority but he does not want a job nexti
Mr. Rhodes, who has more seniority than Ms. West and Mr.Brody.

9. Danielle has been visitin"g'friends in Ridge-wood for the past two weeks.
She is leaving tomorrow morning and her flight is very early. Most of her -
friends live fairly close to the airport. Madison lives in ten miles away.

2 Frana: ':Ive:ﬂve m":5 away .Samantha, seven miles. Alexis is farther
away than Frances, but clo . '
away from the airport is AI::st?han SN AERSN Rty R T

Ans:Six miles.

Explanation: Alexis is farther away than Frances

who is fi i
closer than Samantha, Who is seven miles away ¥ hivm il sy and

10.N .
urse Kemp has worked more night shifts in a row than Nurse Roger, who

s Worked fifteen nights’ shifts in a row,
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more than Nurse Kemp
ot night shifts in a ror - ROBETS com
eight night shifts in a row, less th ned. Nurse Calvin has worked

anN
arow has Nurse Kemp Worked? urse Kemp. How many night shifts in
Ans: Nine.

row (5 +9 = 14). fore, kemp has worked nine shifts in a

11. Children are in pursuit of dogs whase leash has broken. James is directiv
behind the dog. Ruby is behind James. Rachel is behind Ruby. Max is ahead
of ;he dog walking down the street |n the dpposite'direction. As the |
children and dog pass, Max turns around and join the pursuit. He runs in
behind Ru‘by. James runs faster and is alongside the dog on the left. Ruby
runs faster and is alongside the dog on the right. Which child is directly
behind the dog?

Ans: Max
Explanation: After all the switches were made, Max is directly behind the

.. dog. James is alongside the dog on the left, Ruby is alongside the dog on the

right, and Rachel is behind of Max.

12.0ne rhorning Uaai and Vishal were talking to each other face to face at a
Erossing. I Vishal's shadow was exactly to the left of Udai, which'@irgction

‘was Udai facing? fbf('s‘-{if,\ i
o ey YNOA L
: ' [ ¢88 7
Bplanation: Udai T T 7-
. : < S/ *

<«—> Vishal’s shadow
w

Visha

Pra.
®Da
k "®d by Azhar Afzal Mir
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7.1fp isinthe south of , then i

- h of
13.Y is the East of X which is in the Nort

which direction of Y, Is pP?
Ans: None of these.

Explanation: ) Ty 2 8% 0 Y
\ gyl 2/ /
z / e A0 A E/
i . . . _.,:‘v ¥ G""‘\“\‘T; /
) p

' p isin so.uth-w_est of Y
" 14.If the south-East becomes North, North-East becomes West and so on,
what will West become?
Ans: South-East.
* Explanation:
NW SN NE

v

L w

T SW . S-E

Itis.clear from the diagram that the new name of West will become South East

15.A man walks 5Km toward South and then turns to the right. After walking

3 Km he turns to the left and :
walks 5 : " . Iy
from the starting place? Km.. Now in which direction is he

Ans: South- West
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Explanation:
A o ) ,\l~
- -‘ 1 ,'."‘
| ‘3\‘ \.‘/‘ 3
> N )
(I S
¢l 3km B X -4"
S5Km
‘D

Hence required directions is South West:

-

16. Rahul put his time place on the table in such a wav that at 6 P M. hour
hand points to North. IN which direction the minute hand will pomt at
9:15 P.M.?

Ans: West .~
Explanation:
N

399W .

1212 S

At 9:15 PM, the minute hand will point towards west

ds north. Then he turned right and walks 30 m.
Then he turns left and walks 15 m.
In which dlrection and how many

17.Rasik walked 20 m towar
Then he turns right and walks 35 m.
Finally he turns left and walk 15m.

meters is he from the starting position?

Ans: 45 m east

Prepared by Azhar Afzal Mir
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;gF)f, o
WD AR
Explanation: 30 m T )
C 4
) 1’ B
0m | 35m i
L ;
A
15m
DJ E
4 »>
15m
‘Required distance = AF
=30+ 15 "

-
< =

<

=45m

-

From the above diagram, F is in the East direction from A
Hence the required answer is 45 m east.

18.Two cars starts from the opposite places of a main road, 150 Km apart.
First car runs for 25 Km and takes a right turn and then runs 15Km.It the
turns left and then runs for another 25Km and then takes the direction
back to reach the main road. In the meantime, due tQ minor break down
the other cars has run only 35 Km along the main road. What would be
the distance between two cars at this point? fiu y

Ans: 65 Km-

Explanation: 25Km ¥ w

Py Fe)

- a3 s,

O] 17 AP
L

c -

s

Y

dronarad i 41

CSS General Ability Notes, www.cssexampoint.com 141


www.cssexampoint.com
www.cssexampoint.com

R o

DF ty

3e ‘.3

=150 - g5
= 65 Kif g

starting from the poi
) feft ang walked 2: :":'X, Jayant walkeq 15 m towards west. He turned
. e then turned | . He turne
rned to his ri eft and walked 15 m. Aftert
tu ight and walked 12 m, How far and i . hh~ o
now Jayant from X? . in which directions is

Ans: 32 m, south

gxplanation:
Ao 15 m X
Zb m
o ’ P
’ 15m 12m
D

Required distance =20 + 12 -

=32min south distance
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20. One evening before sunset Rekha and Hema were talking t: eha;f‘ oth.er -
to face. If Hema'’s shadow was exactly to the right of Hema, which direction wa

Rekha facing?

Ans: south '
. i N '
Explanation: Rakha ’ B
R
Hema’s shadow W— > E *
st . 5 .
1L e

-« *  Hema’s S

21. A boy rode his bicycle horthwérd, then turned left and rode-l.'km and again
turned left and rode 2 km.He foun_d himself 1 knt west of his starting point. Ho
far did he ride northward initially? :

Ans:2 km -
C © 1Km . B AR
| 25 4 s
o 3
| 2 SIS/
D A L)
11 g

+—— —
1 km
The boy rode 2 Km. Northward

22. K is 40 m south-west of L. ifMisd40m south

direction of K? -€ast of L, then M is in which

_ Ans: East
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14¢

Misin the East of K.

aman walks 2 km t°wa'd
s
north Then he turns to east
and walks 10 km

.‘3
er this he turns to north:
kska Howf andwalks 3km A
a af .ls he ffom the Startm gain, he turns towards east and
) 25 _ g pomt? ' "

By L
R RIS
. 37

i-g';v-kb_-.':
= B0
.-\
- 3 Km
B 10Km e
2Km
A
Required distance = AE
=i P F 122
- 13 Km
)d .
| -t
AL '235456 43 )
' . “ ;t T
'«. . .30'/
e g
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24. The length and breadth of a room are 8 m and 6 m respectively. A Cal: runs
lo.ng all the four walls and finally along a diagonal order to catch a rat. How
a

much total distance is covered by the cat?

Ans: 38
A 8m =B
2\
:. ; \‘?g\s
.«j..‘:‘\' » ’ D R C
{é, Rl
d Required distance =8 + 6 + 8 + 6 + /8% + 62
=28 +v/100
=28+ 10 B}
38m

25. Once morning Sujéta started to walk towards the sun. After covering some
distance she turned to right then again to the right and after covering some
distance she again turns to the right. Now in which direction is she facing?

Ans: North
Explanation: , A
" "o
A B [ 5\.\; :
s « G2 A \
S"‘.'n“"“r ~ 0 }
R
&N \h?y ’p» [
Dyt
y

o g

Hence finally Sujata will face towards North,
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1ag
e sitting i
soﬂ‘e boys ar. Bin t.hree rows
> e FOW- Pis just to the right of o

A¢ing norp

. ut | Such that A |
,‘egis in the north of A, in Which d Nthe ame roy, i i%in the
|

s
irenlon of Ris Just behind of p
.soum-East

: d,nationi
' Row 1:

Row 2:

Row 3: ‘ )

jsinSouth-East of R . )

7.0ne morning after sunrise, Vimal started to walk. During this walking he met
ephen who was coming from opposite direction. Vimal watch that the shadow
#Stephen to the right of him (Vimal). To which direction Vimal was facing?
Ans; South

ne ‘-‘Dlanatic;n:' éun rises is in the East. So the shadow of a man will always falls

Wards the West. Since the shadow of Stephen is to the right of Vimal. Hence
malis facing towards south.

f
% Golu started from his house towards North. After coveﬂnsha :::tt;emzh::est
e turned towards left and covereda distance of 6 km. wha
- @now.from his house?
510k \ N\
= N U.2

)\

\

= ]

4 2484 N CR
b {ha 50/ ‘b}.,
W,

« g

B ‘."v fS'.\\:
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Explanation:

Required distance = AC

. e
" =V«82+62

V64 + 36

= V100 : ,
=10 Km

29. P started from his house towards west. After walking a distance of 25 m.
~ turned to the right and walked 10 m. he then again turned to the right and
walked 15 m. after this he is to turn at 135° and to cover 30 m. In which

direction should he go?
- ‘ ,'" - .\‘
Ans: South-West L L,
/o \\’L \
Explanation: 15m . Qg o
S 1 I
C > ; “.?Zr"j xf
135° 4o j
10m -
B! A
' 25m

Hence he should go in the South-west direction

€.
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g

' 150

oy sarted to walk towards sy,

A i

Pudtothe left and walkeq 3,y LS sou

now / Wh|Ch o— fadng;‘ er this he turm;:ftef walking 5m he
1 h to right and walked 5 m
| s sout

1

| gplanation” 3

5m . ;N

| A\ | J/I |

'i

; « B > Im c

i N X .

| y

|

| D

Hence X will fac'e-in-the end towards South.

t in order to go to university started from his house in the east and

i Herman
" @metoa crossing. The road to the left ends ina theatre, straight ahead is the

hospitél.'ih which direction is the university?

| Ans: North. . '

»a : )

| Explanation: , (N

I’ ., University
| ]

l . House (E)
(w) Hospital
Th ater g \;CP
e w2
Yy )\
(s) h 5> 2
A £
A\ &/
Ther A : AN e A
ef e is in North: Fag /
ore, University is " N \ s

e
Pa
red by Azhar Afzal Mir
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| turned to the right and then walked 2 Km. after then |

32. After walking 6 km, )
end, | was moving towards the

turned to the left and walked 10 km. in the

north. From which direction did | start my ;ourney?

Ans: south y +
" 11731 C

Explanation: ‘ " 3
. 164581 o7t .‘.

A —6Km—>— B
2 Km

1—-——--"I!JKI‘H"’D North

The journey was started from the South. _ o
h, then turned right and cycl
fter this he turned left an
e to reach his home § yive

33. Ravi left home and cycled 10 km towards sout
5 km and then again turned right and cycled 10 km. A
cycled 10 km. however many kilometers will he have to cycl

stralght?

Ans:
Ans: 15 km ‘
Explanation: . J bepl

]
'
H

Ao .
10Km 10Km‘ G /

Required distance = AE

‘i—'l

-

=5+10
=15 km

3
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T
153
ked from A tg g :
- geend wal Ao Bin the ast 19
3‘ Jalked 3 feet. Again she turned ¢ eet, The,,

g she turned t :
erj o the right
mA? ght ang Walked 14 feet, Houw far is

10 ft,

14 ft.

Required distance = AD

= /3% + (14~ 10)2
"=V9+16
=85t

| | ihari i ch other
cleds one morning after sunrise Nivedita and Nlhanka were talku:g tt: tehae et
a"dzh;eto face at Dalphin crossing. If Niharika’s shadow was exactly

e ‘.Wedita, which direction was facing?
3’4\51 North

{planation:

NivedIta E

|
i Niharik’s shadow
{
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n rises in The East. Hence then any shadow falls in the West

In the morning su ‘
t of Nivedita. Hence Niharika

Since Niharrika’s shadow was exactly to the righ

facing towards north.
36. If Ax Bmeans Ais to the south of B; A + B means A is to the north of g; A%

s A is to the east of B; A -B means Ais to the west of B; thenin py Q+

B mean ,
R -S,S is in which direction with respect to Q?

Ans: south-East g
Explanation: '
According to P%Q+R-S « NI

Q.<

'." R-. 4: .S

37. One nﬁdfning-éﬁer sunrise, Suresh was standing facing a pole. The shadow o
the pole falls exactly to his right. To which direction was he facing?

Ans: south
Explanation: Sun rises in the East in the morning. Since the shadow of Su

to his right. So he is facing south. !

38. A child went 90 m in the East to look for his father, then he turned right and
wenht 20 m. after this he turned right and after going 30 m he réached to his
uncle’s house .His father was not there. From there he went 100 m to his north’
and met his father. How far did he meet his father from the starting point?

resh falls

Ans: 100 m .

L SN
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Exp|anation:

20m

LA 30m g

Required distdnce = AE
= J(AG6)? + (EG)?
_ /(90 — 30)2 + (100 — 20)* ° '

- o — /602 + 802

vof ! . , _
e ' _ /3600 + 6400
. _ /10000

s | : _100m

he house of Bisinthe east

in a same locality. T :
of Cisin the west of D's

i 39, Four friends A, B, Cand D live
#  of A’s house but in the north of C'shouse. The house

; house. D’s house is in which direction of A’s house?

- Ans: south-East o ,

|
|
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Explanation:

c D
& e
Therefore, D’s house is in the South-East direction of A.

40. Umesh directly went from P, to Q which is 9 feet distant. Then he turns to
the right and walked 4 feet. After this he turned to the right and walked a

distance which is equal from P to Q. finally he turned to the right and walked 3
feet. How far is he now from P?

Ans: 1 feét-v ;
Explanation:
P 9 ft Q
: -
3&{ ate,
S 9 ft. R

Requirgd distance = pT
=4-3

East and then turns |
\ . eftand w. inh
fums right and walks 9 km. Finally he turns to his ri ht an ik 6 km. Again

Ans: 14 km

Prepared by Azhar Afzal Mir
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lan"ion'
o C 9Km
b}
6 Km
: 6 Km
A E
, Required distance = 4
| =5+9
| = 14 Km
it startedealking positioring his baci} towards the sun. After some time,
1 o ‘d |eft, then turned right and towards the left again. In which direction is
|ptumed =
|egongnOW?
l
| g North Of south. '
! In morning
| ganation:
S
g’
ow
..

}
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e

In evening

walked 15 m. at what distance is he from the startmg point and in which
direction?

Ans: 35 m East

A D 15m o E
25m 25m
NS
B C 2
20m £
Required distance = AE e
=20+ 15

35 m towards east.

respect to village R?

Ans: south-west

Prepared by Azhar Afzal Mir
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jon:

i oP

* 5. Radha moves towards south-east a distance of 7 km, then she move towards

west and travels a distance of 14 km. From here she moves ,,toward-n’orth-west a
gistance of 7 km ‘and finally she moves distance of 4 km towards east. How far is
she now form the starting point? ’

Ans: 10 km

Explanation: '
D 4Km E A

7K 7 Km

Required distance = AE
=14-4
© =10 Km

46, Sundar runs 20m towards East afnd turns g
turns to the right and runs 9 M- Again he thurr:ur .
he turns to left and runs 12 m and finally he
which direction is sundar facing?

Prepared by Azhar Afzal Mif
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Wy A v T T

)
f
(s
159 ' g
Ans: North ' ‘ 11/‘;2
A original position ! l":l,w
e W
G D— B N \.()'fE
6m v
F 12m T E - 10 w = ,
0 G . i
9m
Therefore, it's clear that the Sundar will face towards North ;
47.Sachin walks 20 km towards North. He turns left and walk 40 km. he again 1
turns left and walks 20 km. finally he moves 20 km after turning to the left. gl
1
. : v O 5 E
How far is he from his starting position?
Ans: 26 km
Explanation: 40 Km
C B N
20Km W —>E
s+ 20 Km-
D ‘L‘\DE ‘
A S
Required distance = 40 - 20 = 20km. e
Y
|
: -4
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